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Checklist Analysis Form 

 

Notes  : 

A2  : SMAN 2 Singaraja 

18/19  : Education Year 

I  : Semester 

MC  : Multiple Choices 

SA  : Short Answers 

01  : Number of items 

 

No  

 

Items 

 

C1 

 

C2 

 

C3 

 

C4 

 

C5 

 

C6 

 

Note 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A2.18/19.I.MC.01 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  This item belongs to the 

“Applying” level of 

Revised Bloom 

Taxonomy. The 

appropriate indicator is 

executing.  Executing 

occurs when the students 

are able to carrying out a 

procedure when 

confronted with familiar 

task (Anderson and 

Krathwohl, 2001). 

 

In this item, it includes a 

conversation between two 

characters, Kim and 

James. This item asked the 

students to complete the 

blank space with the 

appropriate expression. 

This item belongs to the 
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familiar task as the 

students need to choose the 

right expressions in the 

options provided. Before 

the process of appying 

takes place, the students 

must understand the 

meaning of each of the 

expression. After 

understand the meaning, 

and then the students could 

choose their answer. 

2 A4.18/19.I.MC.02                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item number 2 is 

categorized to “Applying” 

level (C2) of Revised 

Bloom‟s Taxonomy in 

which it refers to the 

indicator of executing. 

Executing defines as the 

process in which the 

students are faced with 

familiar task and the 

students know what 

procedure to do (Anderson 

and Krathwohl, 2001).  

 

This item includes the 

same conversation which 

is used for number 1. The 

item number 2 asks the 

students to complete the 
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dialogue with certain 

expression. Clearly, this 

item belongs to the 

category of familiar task, 

because the students are 

asked to find the 

appropriate word in order 

to fill in the blank space. 

3 A4.18/19.I.MC.03                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 3 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

classifying. Based on 

Anderson and Krathwol 

(2001) classifying means 

determining that 

something belongs to 

certain category (e.g. 

concept or principle).  

Moreover classifying 

commonly begins with 

specific examples and the 

students must categorize 

the examples into general 

concept.  

This item includes a 

picture of a person who 

seems suffering headache. 

The students are asked to 

find the appropriate 
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offering expression 

regarding to the pictures. 

This item requires the 

process of classifying 

because the students need 

to categorize each example 

(expressions) in the 

options that belongs to 

certain general concept. In 

this case the concept is 

“Offering”, thus the 

students must choose 

which one is the 

expression of offering.  

4 A2.18/19.MC.I.04                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 4 belongs to 

(C2) the    

“Understanding” level of 

Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

inferring. Based on 

Anderson and Krathwol 

(2001), Inferring deals 

with the process of 

drawing logical conclusion 

from the material 

presented. Alternative 

terms such as 

extrapolating, 

interpolating, predicting 

and concluding.  
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The item number 4 

includes a short 

conversation between a 

man and a woman. This 

item demands the students 

to find out what is the 

man‟s profession. The 

students need to 

understand the 

conversation between the 

two, before making 

conclusion.  

5 A2.18/19.I.MC.05                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no. 5 regarded as 

(C2) the “Understand” 

level of Revised Bloom‟s 

Taxonomy. The suitable 

indicator of the item is 

summarizing. Based on 

Anderson and Krathwol 

(2001), the indicator of 

summarizing emphasizes 

on abstracting general 

theme or major point of 

certain information. 

Giving brief statement of 

main point also refers to 

summarizing.  

 

This item includes job 

application form. Item 
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number 5 belongs to 

summarizing as the 

students are asked to find 

out what does the 

application form about. 

Summarizing is the 

process in which the 

students are demanded to 

construct the general 

theme. In this case the 

students must aware with 

the idea of the application 

form itself. 

 

6 A2.18/19.I.MC.06                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 6 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation to 

another. Interpreting may 

occur when the students 

are able to convert 

representation such as 

from word to word, 

pictures to word and etc. 

The item no 6 demands the 
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students to find out what 

does the underlined word 

represent to. In here the 

underlined word is 

“ability”, thus the students 

need to find the similar 

meaning the underlined 

word based on their own 

understanding toward the 

context of the sentences.  

 

7 A2.18/19.I.MC.07                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 7 agrees with 

the level “Analyzing” (C4) 

of Revised Bloom‟s 

Taxonomy whereas the 

indicator is organizing. 

Organizing refers to the 

process involves 

identifying the elements of 

a communication or 

situation and recognizing 

how they fit together into a 

coherent structure.  

 

This item involves several 

sentences that are still 

unarranged. In this item, it 

asks the students to 

rearrange the sentences 

into correct order. The 

students must analyze 
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whole of the sentences and 

find the coherent relation 

between each other. The 

process of organizing takes 

place when the students 

arrange the sentences into 

good order.  

 

8 A2.18/19.I.MC.08                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 8 agrees with 

the level Analyze (C4) of 

Revised Bloom‟s 

Taxonomy whereas the 

indicator is organizing. 

Organizing also refers to 

the process of integrating, 

integrating, structuring, 

outlining, and parsing etc. 

     

This item includes random 

words, in which the item 

asks the students to 

arrange the words into a 

good and coherent 

sentence. In here the 

student need more than 

basic understanding to 

arrange the word become 

more relevant. Eventually, 

the students need to choose 

the best arrangement 

provided in the options. 
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9 A2.18/19.I.MC.09                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 9 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

summarizing. The item no 

9 belongs to the level of 

Understanding (C2) in 

Revised Bloom 

Taxonomy, which the 

indicator is summarizing. 

Summarizing commonly 

determines the theme or 

main point of information. 

As the item asks the 

students to determine the 

purpose of the text, 

without the dialogue 

provided it is impossible to 

decide the correct 

purposes. Thus the 

students need to 

understand by 

summarizing the major 

point in order to know the 

purpose of the passage. 

 

The item includes the 

passage used also for 

number 9 until number 14. 
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This item asks the students 

to find out the purpose of 

the passage provided. Thus 

the students need to 

conduct the process of 

summarizing. 

Summarizing takes place 

when the students need to 

find the general theme of 

the passage. Finding the 

purpose of the passage 

belongs to the general 

theme.   

10 A2.18/19.I.MC.10                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 10 belongs to 

Remembering (C1) of 

Revised Bloom‟s 

Taxonomy, and the 

indicator meets the 

condition of recognizing. 

Based on Anderson and 

Krathwol (2001) recognize 

retrieving relevant 

knowledge from long-term 

memory in order to 

compare it with presented 

information.  

 

The item number 10 

requires the students to 

find out the specific 

information in the passage. 
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Recognize includes the 

process of retrieving 

information, in which the 

students retrieve 

information from the 

passage. The answer is 

already stated in the 

passage therefore the 

students have to identify 

the specific information to 

answer the questions.  

 

11 A2.18/19.I.MC.11                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            Item number 10 belongs to 

Remembering (C1) of 

Revised Bloom‟s 

Taxonomy, and the 

indicator meets the 

condition of recognizing. 

Based on Anderson and 

Krathwol (2001) recognize 

includes the process of 

retrieving relevant 

knowledge from long-term 

memory in order to 

compare it with presented 

information. Recognizing 

has the same meaning with 

identifying. 

 

The item number 11 

requires the students to 
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find out the specific 

information in the passage. 

The item asks about what 

the writer include in her 

curriculum. The answer is 

already stated in the 

passage. Thus the students 

have to identify the 

specific information to 

answer the questions.  

 

12 A2.18/19.I.MC.12                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 12 belongs to 

the level of Understanding 

(C2) in Revised Bloom 

Taxonomy, which is the 

indicator is summarizing. 

Summarizing commonly 

determines the theme or 

main point of information. 

Based on Anderson and 

Krathwohl (2001) 

Summarizing occur when 

the students are able to 

suggest a single statement 

the represents information 

or abstract general theme.  

 

As the item asks the 

students to determine the 

main idea of paragraph 

two. Without proper 
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understanding, it is 

difficult for the students to 

abstract the general theme 

of the second paragraph.  

Thus the students need to 

understand by 

summarizing the major 

point in order to know the 

main idea of the second 

paragraph. 

 

13 A2.18/19.I.MC.13                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 13 considered 

as Understanding (C2) 

level of Revised Bloom‟s 

Taxonomy in which it 

meets the condition of 

interpreting. According to 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation into 

another. Interpreting 

regarded as the process of 

seeking the meaning of 

presented material.  

 

The item no 13 demands 

the students to find the 

similar meaning of the 

underlined word. The 

students need to 
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understand the context of 

the sentence in which the 

word is used. The 

underlined word must 

represent another similar 

meaning, thus it is the 

students‟ task to find the 

relevant word in the 

options.   

 

14 A2.18/19.I.MC.14                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 14 agrees with 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy in which the 

indicator is interpreting. 

Interpreting (changing one 

form of representation) 

occurs when the students 

are able to paraphrase 

something such as speech, 

or documents 

The item number 14 is 

about paraphrasing. The 

stem states “You may 

reach me in this personal 

contact +31 32270409, the 

students are required to 

find what does the 

statement mean. This item 

is clearly about 

paraphrasing the 
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sentences, the students 

need to understand the 

meaning of the sentences 

first, and then the students 

could find the appropriate 

interpretation in the 

options provided.  

 

15 A2.18/19.I.MC.15                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no. 15 belongs to 

the level of (C3) Applying 

of Revised Bloom‟s 

Taxonomy. The indicator 

that suitable for this item is 

executing. Executing is the 

process of applying certain 

procedure to a familiar 

task (Anderson & 

Krathwol, 2001). 

Executing demands the 

students to apply certain 

procedure when they deal 

with familiar task.  

 

This item includes a 

passage with some blank 

spaces, and the students 

are asked to answer with 

appropriate word. This 

completion task prevails 

for number from number 

15 to number 19. This item 
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requires more than basic 

understanding, in which 

the students need to apply 

the grammar ability. This 

is met the condition of 

executing because the 

students deal with familiar 

task. The students are 

instructed to fill the blank 

with appropriate word, it 

means the students are 

facing familiar task.  

 

16 A2.18/19.I.MC.16                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                         The item no. 16 belongs to 

the level of (C3) Applying 

of Revised Bloom‟s 

Taxonomy. According 

Anderson & Krathwol, 

2001) the indicator that 

suitable for this item is 

executing. Executing is the 

process of applying certain 

procedure to a familiar 

task. In addition executing. 

The process of carrying 

out information. 

 

This item met the 

condition of executing as 

the students are asked to 

choose the appropriate 
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word. In other words it 

means the students are 

having a familiar task to 

do. The students are 

carrying out the known 

procedure to fill the tasks.  

  

17 A2.18/19.I.MC.17                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 17 belongs to 

C3 or “Applying” of 

Revised Bloom‟s 

Taxonomy and the 

indicator is rec. According 

to Anderson & Krathwol 

(2001) executing also has 

the same term as carrying 

out. The main idea of 

executing is that the 

students are given certain 

instruction in which it 

includes applying 

procedures to solve the 

problem. 

 

This item includes a short 

passage that requires the 

student to fill the blank 

space. The students also 

need to apply their 

grammatical ability 

because the options are in 

the form of past tense. The   
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18 A2.18/19.I.MC.18                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                         The item no. 18 belongs to 

(C3) Apply level of 

Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

executing. The indicator of 

executing emphasizes on 

the procedure as well as 

the answer (Anderson and 

Krathwol, 2001).  

 

This item includes a 

passage with the blank 

spaces. This item asks the 

student to fill the space 

provided. Slightly it might 

be belongs to 

“Understanding”. 

However, the students 

need higher level of 

thinking. In this case, the 

students need the applying 

skill. 

19 A2.18/19.I.MC.19                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 19 connects 

with the level of Applying 

(C3) of Revised Bloom‟s 

Taxonomy in which the 

indicator is executing. 

Executing emphasizes on 

the procedure as well as 
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the answer (Anderson and 

Krathwol, 2001).  

 

This item is similar to the 

previous one, in which it 

asks the students to choose 

the appropriate words to be 

used to complete the blank 

space. This item requires 

the applying level because 

the students cannot rely 

with basic understanding 

only. 

20 A2.18/19.I.MC.20                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 20 is belongs 

to Understanding level 

based on Revised Bloom‟s 

Taxonomy in which the 

indicator is interpreting. 

According to Anderson 

and Krathwohl (2001) 

interpreting involves the 

changing from one form of 

representation into 

another. This item 

demands the students to 

find the similar meaning of 

the underlined word. The 

students must understand 

first the context of the 

sentence, then the students 

need to interpret the 
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possible meaning that 

provided in the options. It 

meets the indicator of 

interpreting because the 

student must find out 

another similar meaning 

that appropriate with the 

context of the sentence. 

21 A2.18/19.I.MC.21                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 21 indicates 

the “Understanding” level 

of Revised Bloom‟s 

Taxonomy and the 

indicator is inferring. 

According to Anderson & 

Krathwol (2001) 

Understanding means 

constructing meaning from 

the instructional message 

whether in the form of 

oral, written or even in 

graphic communication 

form. Regarding to the 

indicator, inferring 

explained by Anderson 

and Krathwohl is the 

process of drawing logical 

information.  

 

This item asks the students 

to make logical perception. 

The item number 21 
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demands the students to 

predict the applicant ages. 

The applicant has already 

input his date of birth. 

Thus, to know the age of 

the applicant, the students 

could make logical 

conclusion based on the 

information provided. 

22 A2.18/19.I.MC.22                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no. 23 is belongs 

to Understanding level 

based on Revised Bloom‟s 

Taxonomy, the indicator is 

interpreting. According to 

Anderson and Krathwohl 

(2001) interpreting 

includes the changing from 

one form of representation 

into another.  

 

This item demands the 

students to give suitable 

caption for the picture. 

Interpreting is the 

changing of information 

from one form into 

another. In this case, the 

students must interpret the 

picture first in order to 

give the appropriate 

caption. 
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23 A2.18/19.I.MC.23                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no. 23 is relates 

with the level of 

Understanding based on 

Revised Bloom‟s 

Taxonomy, and the 

indicator is interpreting. 

Based on Anderson and 

Krathwohl (2001) 

interpreting is the process 

of converting information 

into other forms.  

 

This item includes a 

picture completed with 

caption. The item asks the 

students to guess the 

meaning of the caption. In 

other words, the students 

must conduct the 

interpretation towards the 

caption provided. The 

students of course need an 

understanding. This is very 

important to get the correct 

answer. 

24 A2.18/19.I.MC.24                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                       The item no 24 agrees with 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas the 

indicator is summarizing. 

Summarizing refers to the 
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process of abstracting the 

concept of presented 

information to find out the 

general theme.  

This item demands the 

students to find out what is 

the caption about. This 

item requires good 

understanding regarding to 

the caption. The students 

must be able to generalize 

the caption in purpose of 

finding the general idea of 

the caption itself.  

25 A2.18/19.I.MC.25                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 25 belongs to 

the level “Remebering” 

(C1) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

recalling. Based on 

Anderson and Krathwol 

(2001) recalling is the 

process of thinking when 

the students are able to 

retrieve information from 

the long term memories. In 

recalling, the students find 

the information from their 

basic memory.  

 

In this item the students 
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are asked about common 

knowledge. This item asks 

about the most appropriate 

way to write organization 

structure. This is the 

common knowledge in 

which the student doesn‟t 

need to require an 

understanding to find the 

answer. The students could 

rely on their own prior 

knowledge. 

 

 

26 A2.18/19.I.MC.26                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 26 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation to 

another. Interpreting 

involves the conversion of 

information from word to 

word, picture to word, 

number to word etc.  

 

 The item no 26 includes a 
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table about the statistics of 

type of death.  This item 

asks the students to make 

interpretation toward the 

table provided. The table is 

completed with statistical 

numbers and charts. 

Therefore, the students 

need to interpret the 

information form the table 

into the statement. The 

statement is provided in 

the options. 

 

27 A2.18/19.I.MC.27                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                         The item no. 27 is 

considered as 

Understanding level based 

on Revised Bloom‟s 

Taxonomy in which the 

indicator is interpreting. 

According to Anderson 

and Krathwohl (2001) ing 

involves the changing 

from one form of 

representation into 

another. This item 

demands the students to 

find the similar meaning of 

the word “suicide”. 

The students must 

understand first the 
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meaning of the word. After 

understanding the word the 

students need to interpret 

the possible meaning that 

provided in the options. It 

meets the indicator of 

interpreting because the 

student must find out 

another similar meaning.  

 

28 A2.18/19.I.MC.28                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            This item is belongs to 

(C1) which is 

“Understanding” in 

Revised Bloom‟s 

Taxonomy. The suitable 

indicator is Interpreting. 

Interpreting defines as the 

process of the change of 

information from one form 

into another. (Anderson 

and Krathwol, 2001).  

 

This item includes the 

picture of certain chart. It 

demands the students to 

search for the appropriate 

caption based on the chart. 

The students just need to 

interpret the possible 

answer in the options. 

29 A2.18/19.MC.29                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 29 belongs to 
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the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting occurs 

when the students are able 

to representation of 

information.  

 

The item includes a 

caption which is written in 

the stems. This item asks 

the students to find the 

suitable pictures that could 

explain the caption. The 

students need to change 

the information from 

words into pictures. This is 

suitable with the definition 

of interpreting.  

30 A2.18/19.I.MC.30                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 30 indicates 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

summarizing. Based on 

Anderson and Krathwol 

(2001) In summarizing, 

when information is given 
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the student provides a 

summary or abstract a 

general theme.   

 

The item no 30 includes a 

passage which is also 

prevailed for number 31 

until 34. In this item, the 

students are asked to find 

the purpose of the text. In 

order word the students 

must generalize the 

passage first in order to 

find the purpose.  

31 A2.18/19.I.MC.31                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no. 31 belongs to 

(C4) Analyzing level of 

Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

attributing. According to 

Anderson and Krathwohl 

(2001) Attributing refers to 

the process of 

deconstruction in which 

the students find out the 

intention of the writer.  

 

In this item the students 

are asked to find the 

message of the passage. 

This belongs to the 
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indicator of attributing 

because the students need 

to analyze the passage. 

The students require the 

process of deconstructing 

the passage.  

32 A2.18/19.I.MC.32                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                         The item no 27 belongs to 

(C2) of Revised Bloom‟s 

Taxonomy. The 

appropriate indicator is 

inferring. Inferring based 

on Anderson and 

Krathwohl (2001) can 

occur when the students 

are able to draw logical 

conclusion from the 

presented information. 

Inferring demands the 

students to reach a 

conclusion based on 

known facts. 

This item requires the 

students to find the closest 

meaning of the word 

“purse”. The students must 

interpret the similar 

meaning with the word 

“purse”.  

 

33 A2.18/19.I.MC.33                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 8 belongs to 

the level Understanding 
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(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation to 

another.  

 

This item requires the 

students to find the 

meaning of the statement. 

This item demands the 

students to interpret the 

statement provided in the 

stem. This includes the 

process of paraphrasing in 

which the students need to 

understand the statement 

first before choosing the 

similar meaning in the 

options. 

 

34 A2.18/19.I.MC.34                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 34 

corresponds with the level 

of Understanding (C2) of 

Revised Bloom‟s 

Taxonomy and the 

indicator meets the 

condition of inferring. The 
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concept of inferring is that 

it implies the idea which 

focuses on the expectation 

of something that needs to 

be inferred. It also includes 

the process of predicting. 

 

The item number 34 

includes the same passage 

for the previous number. 

In this item it demands the 

students to find the 

specific information. This 

item asks out what time 

does the women losing her 

purse. It is not explicitly 

stated in the passage, the 

only given clue is the 

woman losing her purse 

during lunch. Therefore, 

the students must infer and 

predict the appropriate 

time. 

35 A2.18/19.I.MC.35                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 35 belongs to 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy and the 

indicator is classifying. 

Based on Anderson and 

Krathwol (2001) 

classifying occurs when 
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the students are able to 

recognize the information 

into certain category (e.g., 

concept or principle).  

The item number 35 

includes short conversation 

between two characters, 

Tom and Kim. This item 

demands the students to 

guess what kind of 

expression used by Kim. 

This involves the process 

of classifying because the 

students need to know the 

expression belongs to 

certain category or 

concept.  

36 A2.18/19.I.MC.36                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 36 belongs to 

Applying (C3) of Revised 

Bloom‟s Taxonomy 

whereas the indicator is 

executing. Executing is the 

process of applying certain 

procedure to a familiar 

task (Anderson and 

Krathwohl, 2001). Another 

trait of executing is that it 

includes the familiarity of 

the situation. 

This item includes short 

conversation, and the 
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students are asked to 

complete the expression 

with if clause response. 

This requires the process 

of executing because the 

students know what to do 

to complete the dialogue. 

37 A2.18/19.I.MC.37                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 37 belongs to 

Analyzing (C4) of Revised 

Bloom‟s Taxonomy and 

the indicator is organizing. 

Organizing involves the 

activity in determining 

how elements fit or 

function within the 

structure (Anderson & 

Krathwol, 2001). 

Organizing demands the 

students to build the 

systematic and coherent 

connection among 

presented information.  

 

This item requires the 

students to arrange the 

words given into correct 

order. It includes the 

process of organizing 

because the students need 

to construct the systematic 

and coherent connections 
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in order to make the 

appropriate arrangement. 

38 A2.18/19.I.MC.38                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 38 considered 

as the level Applying (C3) 

of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

executing. Anderson and 

Krathwol (2001) explain 

that executing refers Based 

on Anderson and 

Krathwohl (2001) In 

executing, a student 

routinely carries out a 

procedure when 

confronted with a familiar 

task (Le., exercíse).   

 

The item no 38 requires 

the students to complete 

the blank space with the 

appropriate imperative 

sentence. This item 

indicates the process of 

applying because the 

students must carry out 

certain procedure, the 

students need to apply 

their grammar ability in 

order to complete the 

answer. 
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39 A2.18/19.I.MC.39                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                       This item is belongs to 

(C3) which is “Applying” 

in Revised Bloom‟s 

Taxonomy. The suitable 

indicator is executing. In 

executing, the student ís 

faced with a familiar task 

and knows what to do in 

order to complete it. 

(Anderson and Krathwol, 

2001).  

 

This item includes a 

passage, and the students 

must complete the blank 

space with the appropriate 

word. This item includes 

the process of applying 

because the students need 

to sue their grammar skill. 

The students must choose 

the appropriate adjectives 

to complete the missing 

word. This item belongs to 

familiar task because the 

students are instructed to 

complete the blank space 

with the suitable words. 
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40 A2.18/19.I.MC.40                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           This item number 40 is 

belongs to (C3) which is 

“Applying” in Revised 

Bloom‟s Taxonomy in 

which the indicator is 

executing. Executing 

demands the student to 

carries out a known 

procedure to perform the 

task. (Anderson and 

Krathwol, 2001).  

This item is similar with 

the previous one. This item 

demands the students to 

search for the suitable 

word to complete the blank 

space.  This item deals 

with executing process 

because the students 

confronted with familiar 

task.  

 

41 A2.18/19.I.SA.01                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 6 belongs to 

the level Analyze (C4) of 

Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

analyzing. Based on 

Anderson and Krathwol 

(2001) Analyze involves 

the process of breaking 

material into parts and 



99 
 

 
 

determine how each of the 

parts correlate to one 

another to build an overall 

structure. The appropriate 

indicator is attributing. 

 

The item no 41 demands 

the students to find out 

what does the picture 

represent to. The students 

required to make caption 

that suitable with the 

picture. This item requires 

the students to change the 

information into picture. 

The indicator attributing is 

suitable because attributing 

is not only about 

determining the messages 

of the author, but also 

includes the process of 

deconstructing. In here, the 

students are asked to 

deconstruct the picture in 

order to create the related 

caption.  

 

42 A2.18/19.I.MC.02  

 

     This item no 42 belongs to 

the level of 

“Remembering” which the 

indicator is recalling. The 
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concept of recalling is that 

it requires the students to 

retrieve the knowledge 

from the long term 

memory (Anderson and 

Krathwohl, 2001). The 

process of recalling 

requires the students to 

find the previous learned 

material.  

 

The item no. 42 asks the 

students to mention three 

information that are 

included in the job 

vacancy. This item doesn‟t 

include the process of 

understanding, because the 

students only need to 

retrieve back their prior 

knowledge.  

43 A2.18/19.I.MC.03  

 

     The item no. 43 

appropriates with the level 

of Remembering, which 

the indicator is recalling. 

According to Anderson 

and Krathwohl (2001) 

recalling is the process of 

retrieving back the 

knowledge from the long 

term memory. In recalling, 
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the students repossess the 

information from the long 

term memory and used it 

to working memory so it 

can be used. 

 

The item number 43 asks 

the students to answer the 

extension of the words CV 

and HRD. The students 

don‟t need to understand 

the abbreviation. However 

the students could answer 

if they have learned the 

related knowledge. This is 

the process of recalling in 

which the student only 

need to retrieve their prior 

knowledge.  

44 A2.18/19.I.MC.04       The item no 44 indicates 

the level of 

“Remembering” (C1) of 

Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

recalling. According to 

Anderson and Krathwol 

(2001) recalling is the 

action of thinking when 

the students are able to 

regain the needed 
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information when they use 

it. In recalling, the students 

find the information from 

their basic memory.  

 

The item no 44 is a very 

general knowledge in 

which it includes a 

common situation. The 

stem asks the students to 

answer the question. The 

students don‟t need to 

make an understanding 

because it doesn‟t require 

the students to do so. The 

students only need to 

answer “what will they do 

if they meet an old woman 

carrying such a heavy 

stuff”. This is very general 

question, thus the students 

only need to recall the 

answer based on their 

general knowledge.  

45 A2.18/19.I.SA.05    

 

   The item number 45 

connects with the level of 

(C3) in Anderson and 

Krathwohl (2001) and the 

suitable indicator is 

executing. Based on 

Anderson and Krathwohl 
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(2001) In executing, a 

student routinely carries 

out a procedure when 

confronted with a familiar 

task (Le., exercíse).   

 

The item no 45 includes a 

conditional clause however 

it is not completed yet. The 

students need to complete 

the clause with imperative 

sentence. In this item the 

students will require to 

apply their grammatical 

ability.  It also includes the 

process of executing 

because the students deal 

with familiar task.  
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Checklist Analysis Form 

 

Notes  : 

A3  : SMAN 3 Singaraja 

18/19  : Education Year 

I  : Semester 

MC  : Multiple Choices 

SA  : Short Answers 

01  : Number items 

 

 

No  

 

Items 

 

C1 

 

C2 

 

C3 

 

C4 

 

C5 

 

C6 

 

Note 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A3.18/19.I.MC.01 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  This item belongs to the 

“Understanding” level of 

Revised Bloom 

Taxonomy. The 

appropriate indicator is 

Explaining. Explaining 

based on Anderson and 

Krathwohl (2001) occurs 

when the students are able 

to construct the model of 

cause and effect. In 

addition the examples of 

task that can be 

categorized as explaining 

such as troubleshooting, 

giving reasoning, 

redesigning and predicting.  

In this item, it includes a 

conversation between two 
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characters, Edo and Lia. 

This item asked the 

students to find out the 

reason why Edo gives 

present to Lia. As stated 

before, this item belongs to 

the reasoning task as the 

students need to choose the 

right reason in the options 

provided. The answer is 

not stated explicitly in the 

text. Thus it cannot be 

categorized as the 

remembering level. 

Regarding to the options, 

the option number “B” is 

not logical enough. The 

reason is because the 

option state Dayu‟s 

birthday in which the 

conversation is only 

involves two characters 

and the topic also does not 

state the name Dayu. Thus 

the option „B” is not 

appropriate to be used as 

the option due to irrelevant 

with the conversation.  

2 A3.18/19.I.MC.02 

 

      The item number 2 is 

categorized to 

“Remembering” level (C1) 
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of Revised Bloom‟s 

Taxonomy in which it 

refers to the indicator of 

recognizing. Remembering 

defines as the process of 

retrieving information. 

Recognizing commonly 

has the same definition 

with identifying (Anderson 

and Krathwohl, 2001). 

Moreover recognizing also 

refers to the process in 

which the students look for 

piece information that is 

identical with the 

presented information.  

The item includes a 

passage which is about 

Tanjung Benoa Beach. The 

passage is for items 

number 2 and 3. The item 

number 2 asks the students 

to find out why Serangan 

island (near Tanjung 

Benoa beach) called as the 

turtle island. The answer is 

already stated in the 

passage. The students only 

need to identify the 

information in the passage 

and try to correspond it 

with the options provided.   
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Regarding to the questions 

there is misspelling with 

the word turtle, the written 

spelling is “turtle”. Thus 

the word must be replaced.  

 

3 A3.18/19.I.MC.03 

 

      The item no 3 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation to 

another. Moreover 

interpreting occurs when 

the students are able to 

present information into 

different form. In this item 

for example. This item 

requires the students to 

find out the meaning of the 

word “those” based on the 

sentences.  

In order to find out what 

does the word refers to, the 

students need to 

understand the context of 

the sentences in the 
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passage. Thus, after the 

students grasp the context, 

the students can interpret 

the appropriate meaning of 

the word.  

 

 

4 A3.18/19.I.MC.04 

 

      The item no. 4 belongs to 

(C2) the “Understand” 

level of Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. Based on 

Anderson and Krathwol 

(2001), the indicator of 

summarizing emphasizes 

on abstracting general 

theme or major point of 

certain information. 

Giving brief statement of 

main point also refers to 

summarizing.  

The item number 4 

includes an announcement 

which is also for number 5. 

The item number 4 asks 

the students to find out 

what the announcement is 

about. The students need 

to generalize the 

announcement. In other 
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words, the students need to 

read and understand the 

announcement and then try 

to construct the general 

idea of the announcement.  

5 A3.18/19.I.MC.05 

 

      The item no 5 belongs to 

C2 or “Understanding” of 

Revised Bloom‟s 

Taxonomy and the 

indicator is inferring. 

According to Anderson & 

Krathwol (2001) 

Understanding means 

constructing meaning from 

the instructional message 

whether in the form of 

oral, written or even in 

graphic communication 

form. Regarding to the 

indicator, inferring 

explained by Anderson 

and Krathwohl is the 

process of drawing logical 

information. The three 

common tasks are 

completion, analogy and 

oddity. 

This item also relates with 

the previous 

announcement. Item 

number 5 belongs to 
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oddity task. Oddity task is 

the task that requires the 

students to choose which 

statement belongs to the 

certain concept. In here the 

students must choose the 

correct statement regarding 

to the announcement. 

Thus, item number 5 

belongs to the indicator of 

inferring. 

Regarding to the options, 

there are two potential 

correct answers, options B 

and E. The announcement 

is about an English debate 

competition, which will be 

held on 28
th

 and 29
th

 

September 2018. Option B 

states the form of the 

debate will be in spoken 

arguments, which is 

logically correct since the 

competition is about 

debate. The option E states 

that the competition will 

run for two days which is 

also correct due to the 

announcement (28
th

 and 

29
th
). Thus one of the 

options must be replaced.  
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6 A3.18/19.I.MC.06 

 

      The item no 6 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation to 

another. Interpreting may 

occur when the students 

are able to convert 

representation such as 

from word to word, 

pictures to word and etc. 

The item no 6 includes an 

invitation letter to 

celebrate Andi Pribadi‟s 

birthday. This item 

demands the students to 

find out what does the 

underlined word represent 

to. In here the underlined 

word is “us”, thus the 

students need to interpret 

the underlined word based 

on their own 

understanding toward the 

invitation. 

 



112 
 

 
 

7 A3.18/19.I.MC.07 

 

      The item no 7 agrees with 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas the 

indicator is summarizing. 

Summarizing refers to the 

process of abstracting the 

concept of presented 

information to find out the 

general theme.  

The previous invitation 

letter used for number 6 

also prevails for number 7. 

In this item, it asks the 

students on what is the 

purpose of Andi Pribadi 

sending   invitation letter.  

The students must 

understand the purpose of 

the invitation letter by 

abstracting or thinking the 

general idea of the 

invitation itself.  

 

8 A3.18/19.I.MC.08 

 

      The item no 8 agrees with 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas the 

indicator is summarizing. 

Summarizing refers to the 

process of abstracting the 
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concept of presented 

information to find out the 

general theme.  

This item includes a 

passage entitled “Should 

People Shop in Online 

Shop?”. This item 

demands the students to 

think the main concern of 

the passage provided. Thus 

the students must aware 

and understand the idea of 

the passage. Summarizing 

certain point in each 

paragraph for instance, 

might help the students to 

figure out the general 

concept of the passage.  

 

9 A3.18/19.I.MC.09 

 

      The item no 9 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting refers 

to the process changing 

one form of representation 

to another. In addition 

Interpreting may occur 
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when the students are able 

to convert representation 

such as from word to 

word, pictures to word and 

etc. 

The item no 9 includes 

the same passage used for 

number 8. However this 

item asks the students to 

interpret the synonym of 

the word “determine”. 

Before choosing the right 

option the students must 

know the context of the 

sentences that involves the 

word “determine”. Then 

the students can relate the 

options to look for 

appropriate word that 

might be used to replace 

the word “determine”. 

However all of the options 

seem inappropriate with 

the word “determine”. The 

main reason is because the 

word “determine” is a verb 

in the sentences, 

meanwhile all of the 

options are adjectives such 

as considerable, 

respectable, acceptable, 

credible, and reliable. The 
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part of speech of the 

options should be change 

into verb in order to be 

logically connected with 

the word “determine”. 

10 A3.18/19.I.MC.10 

 

      The item no 10 befits to 

Understanding level (C2) 

of Revised Bloom‟s 

Taxonomy, and the 

indicator meets the 

condition of inferring. 

Inferring has the same 

term with predicting 

(Anderson and Krathwohl, 

2001). The item number 

10 includes short 

conversation between Ina 

and Edy. In this case, the 

item number 10 requires 

the students to predict 

where the conversation 

takes place.  

 

As the answer is implicit, 

the students need to predict 

the place of the 

conversation by reading 

the conversation. Draw 

conclusion from the 

understanding of the 

conversation, this is the 
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best way to find the 

answer. Thus the indicator 

of inferring is suitable for 

this item. 

 

11 A3.18/19.I.MC.11 

 

      The item no. 11 belongs to 

(C2) Understand level of 

Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. Based on 

Anderson and Krathwol 

(2001), the indicator of 

summarizing emphasizes 

on abstracting general 

theme or major point.  

 

The item number 11 

includes the written letter 

which is also prevailed for 

number 12. The item 

number 11 asks the 

students to recognize the 

main idea of paragraph 2. 

Therefore the students 

need to summarize the 

information presented in 

paragraph 2 in order to 

propose the main idea of 

paragraph 2. Students can 

abstract the general theme 
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of the paragraph after 

summarizing the important 

points. 

12 A3.18/19.I.MC.12 

 

      The item no 12 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. According 

Anderson and Krathwol 

(2001) interpreting refers 

to the process of changing 

one form of representation 

to another. In addition 

Interpreting may occur 

when the students are able 

to give meaning regarding 

to certain representation, 

such as word or even 

pictures. 

The item no 12 

includes the same written 

letter used for number 11. 

This item asks the students 

to find out what does the 

word “I” in the sentence “I 

was hoping to visit you”. 

The students will be able 

to interpret the word “I” 

after find out the sender 

and the receiver of the 
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letter.  

 

13 A3.18/19.I.MC.13 

 

      The item no. 13 belongs to 

(C2) Understand level of 

Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. The idea of 

summarizing emphasizes 

on abstracting general 

theme or major point of 

presented information. 

This is supported with the 

statement from Anderson 

and Krathwohl (2001) 

which stated Summarizing 

involves constructing a 

representation of the 

information, such as the 

meaning of a scene in a 

play, and abstracting a 

summary from it, such as 

determining a theme or 

main points.  

 

The item number 13 

includes an application 

letter which is also 

prevailed for number 14. 

The item number 13 asks 

the students to figure out 
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the social function of the 

text. The social function 

also defines as the 

communicative purpose of 

the text. Therefore the 

students need to abstract 

the general theme 

presented in the written 

letter in order to find he 

purpose of the text itself. 

Students can abstract the 

general theme of the 

paragraph after 

summarizing the important 

points. 

14 A3.18/19.I.MC.14                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no. 14 belongs to 

(C2) Understand level of 

Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. 

Summarizing means 

abstracting general theme 

or major point of presented 

information. Summarizing 

occurs when the students 

are able to make a simple 

statement from the given 

information.  

 

The item number 14 
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includes the same letter 

used for number 13. The 

item number 13 asks the 

students to figure out what 

is the letter about. Almost 

the same with number 13, 

the students need to 

abstract the general theme 

presented in the written 

letter.   

 

15 A3.18/19.I.MC.15 

 

      The item no 15 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. According to 

Anderson and Krathwol 

(2001) interpreting refers 

to the process changing 

one form of representation 

to another. In addition 

Interpreting may occur 

when the students are able 

to convert representation 

such as from word to 

word, pictures to word and 

etc. 

In this case, the item 

no 15 includes a 

conversation between two 
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characters, Mona and 

Linda. This item asks the 

students to interpret the 

synonym of the word 

“application”. As usual the 

students need to know the 

context of the sentences in 

which the word 

“application” is used. After 

recognizing the context the 

students could interpret the 

word by relating with the 

options provided.  

 

16 A3.18/19.I.MC.16 

 

      The item no 16 belongs to 

the level of Understanding 

(C2) in Revised Bloom 

Taxonomy, which is the 

indicator is summarizing. 

Summarizing commonly 

determines the theme or 

main point of information 

(Anderson and Krathwohl, 

2001). Summarizing also 

refers to abstracting and 

generalizing.  

As the item number 16 

includes a passage 

(recount text) which is also 

prevailed for number 17. 

The passage consists of 7 
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paragraphs. This item asks 

the students to determine 

the purpose of the text, 

thus the students need to 

understand by abstracting 

the general theme of the 

passage, the students 

should know the content of 

the passage, what is the 

passage about, before 

dealing with the purpose of 

the passage itself.  

 

17 A3.18/19.I.MC.17 

 

      The item no 17 belongs to 

C2 “Understanding” of 

Revised Bloom‟s 

Taxonomy and the 

indicator is inferring. 

According to Anderson & 

Krathwol (2001) The idea 

of inferring is that it 

demands the students to 

draw logical conclusion. 

Inferring has the same 

term such as predicting, 

concluding, extrapolating, 

and interpolating.   

 

The item number 17 

includes a passage about 

the writer‟s experience 
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during holiday. The 

students need to find out 

what has the writer learn 

during the visit in Maratua 

island. The answer is not 

explicitly stated thus the 

students need to make their 

conclusion. Hence, the 

indicator inferring is 

appropriate because the 

students need to draw the 

logical conclusion based 

on the caption. 

 

18 A3.18/19.I.MC.18 

 

      The item no 18 belongs to 

C3 or Applying level of 

revised Bloom‟s 

taxonomy. “Executing 

occurs when the students 

are able to carrying out a 

procedure when 

confronted with familiar 

task (Anderson and 

Krathwohl, 2001). In 

executing, the students 

could carry out the known 

procedure to finish the 

task.  

 

This item includes a short 

conversation between a 
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mother and a daughter. 

This item number 18 

clearly belongs to applying 

because beside of 

understanding the 

conversation, the students 

also have to apply their 

grammar ability to 

complete the conversation.  

19 A3.18/19.I.MC.19 

 

      The item no 19 with the 

level Understanding (C2) 

of Revised Bloom‟s 

Taxonomy in which the 

indicator is inferring. 

Inferring refers to the 

process of abstracting the 

concept or principle that 

account for a set of 

examples. The idea of 

inferring is that it implies 

the idea that requires the 

expectation of something 

that needs to be inferred.  

The item number 19 

includes a letter from John 

to Mr. And Mrs. Smith. 

This item requires the 

students to figure out what 

John tells about his 

experience to Mr. And 

Mrs. Smith in his letter. In 
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order to find out the 

answer, therefore the 

indicator inferring is 

appropriate because the 

students need to draw the 

logical conclusion based 

on their understanding 

towards the passage.  

 

20 A3.18/19.I.MC.20 

 

      The item no. 20 is belongs 

to Understanding level 

based on Revised Bloom‟s 

Taxonomy in which the 

indicator is interpreting. 

According to Anderson 

and Krathwohl (2001) 

interpreting involves the 

changing from one form of 

representation into 

another. This item 

demands the students to 

find the similar meaning of 

the underlined word. The 

students must understand 

first the context of the 

sentence, then the students 

need to interpret the 

possible meaning that 

provided in the options. It 

meets the indicator of 

interpreting because the 
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student must find out 

another similar meaning 

that appropriate with the 

context of the sentence. 

21 A3.18/19.I.MC.21 

 

      The item no 21 belongs to 

C2 “Understanding” of 

Revised Bloom‟s 

Taxonomy and the 

indicator is inferring. 

According to Anderson & 

Krathwol (2001) Inferring 

refers to the process of 

abstracting the concept or 

principle that account for a 

set of examples (Anderson 

and Krathwol, 2001). The 

idea of inferring is that it 

demands the students to 

draw logical conclusion.  

 

The item number 21 

includes a picture with 

caption. The students need 

to find specific 

information in the caption. 

Although the answer is 

stated, it is difficult for the 

students to answer without 

proper understanding. 

Hence, the indicator 

inferring is appropriate 
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because the students need 

to draw the logical 

conclusion based on the 

caption. 

 

22 A3.18/19.I.MC.22 

 

      The item no. 21 is 

considered as (C2) 

“Understand” level of 

Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. The 

indicator of summarizing 

emphasizes on abstracting 

general theme or major 

point (Anderson and 

Krathwol, 2001). 

Summarizing identical 

with the general theme of 

information. The students 

could make a single 

statement that represents 

the collection of 

information.  

This item no 22 includes a 

short caption about the 

Gento Penguins. The 

caption is also completed 

with a picture of the 

penguins. This item asks 

the student to find out 
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what is the caption about. 

Therefore the students 

need to understand and the 

major point of the passage, 

and abstract the single 

statement that appropriate 

with the caption. This is 

clearly includes the 

summarizing process.  

 

23 A3.18/19.I.MC.23 

 

      The item no. 23 is belongs 

to Understanding level 

based on Revised Bloom‟s 

Taxonomy, the indicator is 

summarizing. According 

to Anderson and 

Krathwohl (2001) 

summarizing involves an 

abstraction to recognize 

the general theme of the 

information presented.  

 

This item demands the 

students to find out the 

idea of the presented tips. 

This item includes several 

tips, and the students need 

to recognize what are the 

tips about. In other words, 

the students must 

understand the concept of 
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the whole tips and to find 

the general idea of the tips 

presented.  

 

24 A3.18/19.I.MC.24 

 

      The item no 24 agrees with 

the level Analyzing (C4) 

of Revised Bloom‟s 

Taxonomy in which the 

indicator is attributing. 

Attributing refers to the 

process of deconstruction 

in which the students find 

out the intention of the 

writer. In addition the 

process of attributing 

occurs when the students 

are able to seek out for the 

point of view, biases, 

values and also intention 

of the writer (Anderson 

and Krathwol, 2001). The 

idea of attributing is 

related with the 

involvement of the writer.  

In this item includes 

several tips which are 

presented for number 23 to 

26. In this item it requires 

the students to search for 

the intention of the writer 

in writing the tips. The 
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purpose of the writer in 

writing the text is not 

explicitly stated. Hence the 

indicator attributing is 

appropriate because the 

students need to analyze 

each of the tips and then 

try to find out how each of 

the tips is related. As this 

item is about finding the 

writer‟s intention, thus the 

indicator of attributing is 

appropriate already.  

 

25 A3.18/19.I.MC.25 

 

      The item no 25 belongs to 

the level Remebering (C1) 

of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

Recognizing. Based on 

Anderson and Krathwol 

(2001) recognizing 

includes the process of 

regaining knowledge from 

long term memory in order 

to compare it to the 

presented information. The 

process of recognizing also 

has the same process with 

identifying.  

The item no 25 includes 
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the previous tips used for 

number 23 and 24. In this 

case, the item asks the 

students to find out what 

should the reader used to 

avoid sunburn. The answer 

is stated in the tips 

presented, thus the 

students just need to 

identify the tips to find out 

the answer.  

26 A3.18/19.I.MC.26 

 

      The item no 26 belongs to 

the level Remembering 

(C1) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

recognizing. Based on 

Anderson and Krathwol 

(2001) recognizing means 

the process of identifying 

in which the students 

search long-term memory 

for information that similar 

with the presented 

information.  

The item no 26 slightly 

similar with no 25, in 

which it belongs to the 

indicator of recognizing.  

This item requires the 

students to find out why 
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the readers should do their 

activity indoor during the 

time from 10.00 to 15.00 

as possible as they can. 

The answer can be found 

in the tips presented. The 

indicator of recognizing is 

appropriate due to the 

process of the student 

should do. The students 

only need to correlate the 

information that stated in 

the tips with the presented 

answer provided in the 

options.  

  

27 A3.18/19.I.MC.27 

 

      The item no 27 belongs to 

(C2) of Revised Bloom‟s 

Taxonomy. The 

appropriate indicator is 

inferring. Inferring based 

on Anderson and 

Krathwohl (2001) can 

occur when the students 

are able to draw logical 

conclusion from the 

presented information. 

Inferring demands the 

students to reach a 

conclusion based on 

known facts. 
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The item involves a 

passage about 

Photosynthesis. The 

students are asked to find 

out the benefits of 

photosynthesis towards 

plants. The answer is not 

stated explicitly in the 

passage. Thus, the students 

need to understand the 

passage and make 

conclusion regarding to the 

benefits of photosynthesis. 

 

28 A3.18/19.I.MC.28 

 

      The item no. 20 is belongs 

to Understanding level 

based on Revised Bloom‟s 

Taxonomy in which the 

indicator is interpreting. 

According to Anderson 

and Krathwohl (2001) ing 

involves the changing 

from one form of 

representation into 

another. This item 

demands the students to 

find the similar meaning of 

the underlined word, 

which is “absorbed” in the 

sentence “Water and 

carbon dioxide which have 
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absorbed  … 

The students must 

understand first the context 

of the sentence, then the 

students need to interpret 

the possible meaning that 

provided in the options. It 

meets the indicator of 

interpreting because the 

student must find out 

another similar meaning 

that appropriate with the 

context of the sentence. 

29 A3.18/19.I.MC.29 

 

      The item no 29 belongs to 

the level Remembering 

(C1) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

recognizing. Based on 

Anderson and Krathwol 

(2001) recognizing occurs 

when the students are able 

to recognize or identify the 

information given.  

 

The item includes the 

passage presented for 

number 29 and 30. The 

passage is about a story 

between a mother and her 

daughter (Misna). This 
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item asks the students to 

find out how does Misna‟s 

mother buy her a beautiful 

dress. The specific 

information is already 

stated in the passage. The 

students need to read and 

identify the passage 

carefully.  

30 A3.18/19.I.MC.30 

 

      The item no 30 considered 

as Analyzing (C4) of 

Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

attributing. The item no 24 

agrees with the level 

Analyzing (C4) of Revised 

Bloom‟s Taxonomy in 

which the indicator is 

attributing. Attributing 

refers to the process of 

deconstruction in which 

the students find out the 

intention of the writer.  

This item requires the 

students to search for the 

moral values that 

implicitly existed in the 

passage. In order to find 

the moral values, the 

students need more than 
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understanding the passage. 

Hence the indicator 

attributing is appropriate 

for this item because the 

students need to analyze 

the passage. As this item is 

about finding the moral 

values, thus the indicator 

of attributing is 

appropriate already. This is 

supported with the 

statement from Anderson 

and Krathwohl (2001) 

“Attributing occurs when a 

student is able to ascertain 

the point of view, biases, 

values, or intention 

underlying 

communications. 

 

 

31 A3.18/19.I.MC.31                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no. 31 belongs to 

(C2) Understand level of 

Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. The 

indicator of summarizing 

underlines on abstracting 

general theme or major 

point (Anderson and 

Krathwol, 2001). In 



137 
 

 
 

addition, the students must 

be able to abstract 

presented information in 

order to find out its major 

point.  

Item no 31 is the example 

of the indicator that 

includes the process of 

summarizing. This item 

includes a passage with no 

title provided. This item 

asks the student to find out 

the highlight of the 

passage, in other words, 

the students need to find 

the major point of the 

passage itself.  The process 

of summarizing is needed 

when the students have to 

generalize the presented 

information. In this case 

the presented information 

is in the form of passage. 

Therefore, through 

generalizing, the students 

will be able to identify 

what is the concern or the 

highlight of the passage. 

 

 

32 A3.18/19.I.MC.32       The item no. 32 befits with 
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 the level of 

“Remembering” of 

Revised of Bloom‟s 

Taxonomy. The 

appropriate indicator is 

recognizing. Recognizing 

has the same term with 

identifying in which the 

students need to retrieve 

relevant knowledge from 

the memory in order to 

compare with the 

presented information 

(Anderson and Krathwohl, 

2001).  

In this case, the item 

number 32 includes a 

passage about recycling. It 

requires the students to 

find out what happen if 

recycling is conducted. 

The students need to find 

out the answer which is 

stated in the passage. The 

students should correspond 

all of the options provided 

and relate with the passage 

to find which one is the 

correct answer. 

33 A3.18/19.I.MC.33 

 

      The item no 33 belongs to 

Analyzing (C4) of Revised 
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Bloom‟s Taxonomy 

whereas the indicator is 

attributing. The general 

concept of attributing is 

that it implies the idea that 

attributing refers to the 

process of deconstruction 

in which the students need 

to find out the intention of 

the writer.  

In this item, the students 

are required to find the 

implicit message from the 

writer regarding to the 

influence of recycling. The 

students need to find the 

answer from the writer‟s 

short quotation. This is 

supported with the 

statement from Anderson 

and Krathwohl (2001) that 

explains “Attributing can 

be assessed by presenting 

some oral or written and 

then asks the students to 

find out the writer‟s point 

of view, intention or 

values in the underlying 

communications”.  

Regarding to the option, 

there is still grammatical 

mistake. The option B 
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states that “Recycling 

reduce landfill”, which 

grammatically incorrect. 

The word reduce must be 

changed become reduces.  

34 A3.18/19.I.MC.34 

 

      The item no 34 belongs to 

Understanding (C3) 

Applying level of Revised 

Bloom‟s Taxonomy. The 

suitable indicator for this 

item is executing. 

Executing occurs when the 

students are able to 

carrying out a procedure 

when confronted with 

familiar task (Anderson 

and Krathwohl, 2001). 

  

The item number 34 

belongs to the completion 

task. This item requires the 

students to complete the 

blank space provided with 

the appropriate 

conjunctions. The students 

should understand first the 

meaning of each of the 

conjunctions before 

applying their grammatical 

ability to complete the 

answer. 
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35 A3.18/19.I.MC.35 

 

      The item no 35 belongs to 

Analyzing (C4) of Revised 

Bloom‟s Taxonomy and 

the indicator is attributing. 

The concept of attributing 

is that it determines a 

perspective, bias, values, 

or intention of the 

underlying material 

(Anderson and Krathwohl, 

2001). Attributing is 

related with the process of 

deconstruction in which 

the students decide the 

intention of the writer in 

the presented material.  

This item includes a poem 

entitled “Dreams” by 

Langston Hughes. The 

students are asked to 

abstract the main message 

that implied in the poem. 

The process of attributing 

is required as the students 

have to find out the values 

within the poem. In 

addition, to find out the 

message of the author, the 

students must extent their 

ability beyond the 

understanding level. 

Analyzing in this point is 
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really needed in order to 

find the values or message 

of the author.  

  

36 A3.18/19.I.MC.36 

 

      The item no 36 belongs to 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy whereas the 

indicator is summarizing. 

The general concept of 

summarizing is that 

summarizing emphasizes 

on abstracting general 

theme or major point of 

presented information. 

This is supported with the 

statement from Anderson 

and Krathwohl (2001) 

which stated summarizing 

involves constructing a 

representation of the 

information, such as the 

meaning of a scene in a 

play, and abstracting a 

summary from it, such as 

determining a theme or 

main points.  

 

The item number 36 

includes the same song 

which is used also for the 



143 
 

 
 

previous number. The item 

number 36 asks the 

students to figure out what 

is the poem about. In other 

word the students are 

asked to find the general 

theme of the poem itself. 

The students‟ level 

comprehension is needed 

to abstract the general 

theme of the poem. 

37 A3.18/19.I.MC.37 

 

      The item no 36 belongs to 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy whereas the 

indicator is summarizing. 

Summarizing means as the 

process of finding the key 

ideas of the presented 

material.  

 

The item number 37 

includes a passage which 

is also prevailed for 

number 38.  In this item, 

the students are required to 

find the purpose of the 

text. In order to find out 

the purpose of the text, the 

students need to generalize 

the passage first before 
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abstracting the purpose of 

the text.  

 

38 A3.18/19.I.MC.38 

 

      The item no 38 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Interpreting 

refers to the conversion of 

information into other 

forms, such as words into 

words, pictures into words, 

words into number, words 

into pictures and others 

(Anderson and Krathwohl, 

2001). Interpreting also 

has the same term as 

translating, paraphrasing, 

representing and 

clarifying.   

 

In this item, it requires the 

students to search what 

does the underlined word 

refers to. The students 

should read the passage 

first, and then try to 

understand with the 

context of the sentence 

first.   However there is no 
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underlined word in the 

stem. Thus, the stem needs 

to be completed with the 

underline to avoid 

confusion. 

 

39 A3.18/19.I.MC.39 

 

      This item is belongs to 

(C1) which is 

“Remembering” in 

Revised Bloom‟s 

Taxonomy. The suitable 

indicator is recognizing. 

Recognize defines as the 

process of retrieving 

knowledge from the long-

term memory and 

compared with the 

presented material 

(Anderson and Krathwol, 

2001).  

This item involves 

procedure text about how 

to clean an LCD screen, 

there are two different 

ways. This item demands 

the students to search for 

specific information in the 

procedure text. The answer 

is clearly stated in the 

steps. The students just 

need to read the text and 
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then corresponds with the 

options. The process of 

recognizing is involved 

when the students try to 

identify the passage to find 

the answer. 

 

40 A3.18/19.I.MC.40 

 

      The item no 40 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy in which it 

belongs to the condition of 

interpreting. Interpreting 

refers to the conversion of 

information into other 

forms, such as words into 

words, pictures into words, 

words into number, words 

into pictures and others 

(Anderson and Krathwohl, 

2001). 

 

In this item, it requires the 

students to search for the 

similar meaning from the 

underlined word. The 

students should read the 

sentence first, and then try 

to understand with the 

context of the sentence 

first. This is clearly 
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belongs to the indicator of 

interpreting, because it 

involves the process of 

converting words to words.  

41 A3.18/19.I.MC.01 

 

    

 

  The item no. 41 

appropriates with the level 

of Analyzing, which the 

indicator is organizing. 

According to Anderson 

and Krathwohl (2001) 

organizing is the process 

of identifying the elements 

of a communication or a 

situation and recognizing 

how each element 

connects into coherent 

structure. The item number 

41 asks the students to 

rearrange the sentences 

into correct orders.  

There are six sentences 

that are provided, and the 

students must the right 

orders. The students need 

to analyze the whole 

arrangement of the 

sentences. The students 

need to break each of the 

sentences and the try to 

correlate each of the 

sentences into an overall 
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correct structure.  

In addition, there is a 

grammar mistake in the 

fifth sentences, the 

sentence is  “wait a few 

moment for the computer 

to recognize the device”. 

The word moment should 

be changed become 

“moments” because there 

is a quantifier “a few” 

which is for countable 

noun.  

 

42 A3.18/19.I.MC.02 

 

   

 

   This item no 42 belongs to 

the level of “Applying” 

which the indicator is 

executing. Executing 

involves the idea that the 

students are dealt with 

familiar task. Based on 

Anderson and Krathwohl 

(2001) the students 

routinely carried out the 

known procedure to finish 

the task.  

 

This item requires the 

students to complete the 

blank space provided in 

the passage. The students 
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need to fill the blank space 

with the appropriate 

words. In this case, the 

students are dealing with 

familiar task because the 

students are instructed to 

complete the blank space 

with the appropriate word. 

This item requires more 

than basic understanding 

as it includes the process 

of applying grammar.  

43 A3.18/19.I.MC.03 

 

    

 

  The item no. 43 

appropriates with the level 

of Analyzing, which the 

indicator is organizing. 

According to Anderson 

and Krathwohl (2001) 

organizing is the process 

of identifying the elements 

of a communication or a 

situation and recognizing 

how each element 

connects into coherent 

structure. The item number 

43 asks the students to 

rearrange the sentences 

into correct orders. There 

are five sentences that are 

provided, and the students 

must rearrange the right 
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orders. The students need 

to analyze the whole 

arrangement of the 

sentences. The process of 

organizing is required 

when the students conduct 

the structuring process to 

systemize the sentences.   

44 A3.18/19.I.MC.04 

 

  

 

    The item no. 44 belongs to 

Understanding level of 

Revised Bloom‟s 

Taxonomy. The suitable 

indicator for this item is 

inferring. Inferring 

explained by Anderson 

and Krathwohl is the 

process of drawing logical 

information. In addition, 

inferring requires an 

expectation of what is 

needed to be inferred. 

 

The item no 44 includes a 

passage and the students 

need to make a correct 

statement based on the 

passage provided. To 

answer this question, this 

item demands the students 

to understand the whole 

content of the passage and 



151 
 

 
 

then try to make logical 

statement. This item 

require the students to 

write down their answer.  

45 A3.18/19.I.MC.05 

 

 

 

     The item no. 45 belongs to 

Remember level of 

Revised Bloom‟s 

Taxonomy. The suitable 

indicator for this item is 

recognizing. Based on 

Anderson and Krathwohl 

(2001) recognizing occurs 

when the students are able 

to identify the specific 

information from the 

presented material. If the 

answer is stated in the 

passage, mostly the 

students are dealt with 

recognizing level. 

 

The item no 45 includes a 

passage and the students 

need to find out what is the 

cause of the accident.  The 

answer is already stated in 

the text. The students only 

need to read and identify 

the specific information to 

answer the question.  
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Checklist Analysis Form 

 

Notes  : 

A4  : SMAN 4 Singaraja 

17/18  : Education Year 

II  : Semester 

MC  : Multiple Choices 

SA  : Short Answers 

01 : Number items 

 

No  

 

Items 

 

C1 

 

C2 

 

C3 

 

C4 

 

C5 

 

C6 
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1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A4.17/18.II.MC.01 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  The item no 1 agrees with 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas the 

indicator is summarizing. 

Summarizing refers to the 

process of abstracting the 

concept of presented 

information to find out the 

general theme.  

Item number one includes 

a short conversation 

between Heru and Satya. 

The item asks the students 

to find out what does the 

dialogue tell about. This 

clearly involves the 

process of summarizing as 

it demands the students to 
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find out the statement that 

represents the presented 

information. The 

statement can be chosen 

from the options. 

2 A4.17/18.II.MC.02       The item number 2 is 

categorized to Understand 

level (C2) of Revised 

Bloom‟s Taxonomy in 

which it refers to the 

“summarizing” indicator. 

Summarizing commonly 

determines the theme or 

main point (Anderson and 

Krathwohl, 2001). 

Summarizing emphasizes 

on abstracting the general 

theme. 

As the item asks the 

students to determine the 

purpose of the dialogue, 
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without the dialogue 

provided it is impossible 

to decide the correct 

purposes. Thus the 

students need to 

understand by 

summarizing the overall 

conversation in order to 

generate the general 

purpose of the 

conversation. 

 

3 A4.17/18.MC.II.03                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item number 3 

belongs to Understanding 

(C2) of Revised Bloom‟s 

Taxonomy and the 

indicator meets the 

condition of inferring. 

According to Anderson 

and Krathwol (2001) 

inferring means to the 

process of abstracting the 

concept or principle that 

account for a set of 

examples.  

The concept of inferring is 

that it implies the idea that 

it requires the expectation 

of something that needs to 

be inferred. It also 

includes the process of 
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predicting. This item asks 

the students to find the 

correct statement based on 

the conversation. This 

includes the process of 

inferring in which the 

students must make 

logical conclusion to 

choose the correct 

statement in the options. 

4 A4.17/18. II.MC.04                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 2 belongs to 

“Understand” (C2) of 

Revised Bloom‟s 

Taxonomy as the item 

matches with the indicator 

inferring. Regarding to the 

indicator, inferring 

explained by Anderson 

and Krathwohl is the 

process of drawing logical 

information (Anderson 

and Krathwohl, 2001). 

This item requires the 

students to detect the 

differences between the 

problems from two 

characters. The problems 

are presented through 

short dialogue, then the 

students need to differ 

each of the character‟s 
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problem. Actually the 

answer is stated but in 

order to detect the 

problem, the students 

need to make logical 

conclusion based on the 

presented conversation.   

 

5 A4.17/18.II.MC.05                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 5 belongs to 

C1 or “Remember” of 

Revised Bloom‟s 

Taxonomy and the 

indicator is recognizing. 

According to Anderson & 

Krathwol (2001) 

recognize also has the 

same term as retrieving. 

Recognize involves the 

process of identifying 

information.  

 

The item is includes a 

conversation between 

Benny and Anton. This 

item requires the students 

to choose the appropriate 

solution regarding to the 

problem. The solution 

actually has been stated in 

the dialogue, thus it meets 

the condition of 
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recognizing. This 

indicator is supported 

with the statement that the 

students need to compare 

the information that has 

previously learned with 

the current information, in 

other words the students 

need to compare the 

information from the 

dialogue with the options 

provided. 

 

6 A4.17/18.II.MC.06                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                   The item no 6 basically 

belongs to Understand 

(C1) of Revised Bloom‟s 

Taxonomy because it 

meets the indicator of C1 

which is recognizing 

(finding the identical 

information that similar 

with the presented 

material). The item no 6 

consists a dialogue 

between two characters 

(Tommy and Emily) 

which the topic is about 

full day school. Tommy is 

the character that supports 

full day school.  

This item requires the 
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students to recognize the 

opinion from Tommy. In 

this case, because the 

answer is stated in the 

conversation, the students 

only need to identify the 

information and then try 

to compare the 

information with the 

options provided. 

 

7 A4.17/18.II.MC.07                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                        The item no 7 agrees with 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas the 

indicator is inferring. 

Inferring refers to the 

process of abstracting the 

concept or principle that 

account for a set of 

examples. The idea of 

inferring is that it implies 

the idea that requires the 

expectation of something 

that needs to be inferred.  

The item number 7 is 

about a conversation 

between two persons 

(Andrew and Billy). The 

students are asked to find 

out the point why does 
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Andrew ask Billy twice, 

therefore the students 

need to determine the 

logical conclusion that 

can be found after reading 

the dialogue. 

 

8 A4.17/18.II.MC.08                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                        The item no 8 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation to 

another.  

 

The item no 8 includes 

short conversation 

between Nils and Inge and 

the topic is about Natural 

disaster. This item asks 

the students to find out 

what does Inge mean from 

her statement. This can be 

done by reading the 

conversation in the text. 

Simply, the students need 

to understand the 
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statement from Inge, and 

from their understanding, 

they need to interpret the 

intention of Inge by 

choosing the appropriate 

statement in the options 

provided. 

 

9 A4.17/18.II.MC.09                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item number 9 is 

belongs to “Applying” 

level (C3) in Anderson 

and Krathwohl (2001) 

whereas it meets the 

conditions of executing. 

In this item, it asks the 

students to find out the 

correct statement from the 

answers given based on 

the short dialogue.  

 

Based on Anderson and 

Krathwohl (2001) 

Executing is about 

choosing from a set of 

possible answers. In this 

case, the item demands 

the students to find the 

suitable expression to 

complete the dialogue. 

This requires more than 

basic understanding, 
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because the students need 

to choose the possible 

answer, the students also 

need to apply their 

grammar ability to choose 

the correct answer. 

 

10 A4.17/18.II.MC.10                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 10 belongs to 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy, and the 

indicator meets the 

condition of Inferring. 

Based on Anderson and 

Krathwol (2001) inferring 

means the process of 

drawing logical 

conclusion from the 

presented information.  

 

The item number 10 is 

requires the students to 

choose the incorrect 

statement based on the 

conversation given. This 

item meets the condition 

of inferring, because the 

students must be able to 

understand and make a 

logic conclusion based on 

the conversation. 
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Regarding to the incorrect 

statement, the students 

only need to find which 

statement in the options 

that not suitable with the 

conversation.  

 

11 A4.17/18.II.MC.11                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 11 belongs 

to (C2) Understand level 

of Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. Based on 

Anderson and Krathwol 

(2001), the indicator of 

summarizing emphasize 

on abstracting general 

theme or major point.  

 

The item number 11 

includes the written letter 

which is also prevailed for 

number 12. The item 

number 11 asks the 

students to recognize the 

purpose of the text 

written. Therefore the 

students need to 

understand the context of 

the letter, then the 

students need to underline 
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the major point regarding 

to the goal of the writer in 

the written letter. 

12 A4.17/18.II.MC.12                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 12 belongs to 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy and the 

indicator meets the 

condition of inferring. 

According to Anderson 

and Krathwol (2001) 

inferring refers to the 

process of abstracting the 

concept or principle that 

account for a set of 

examples. The concept of 

inferring is that it implies 

the idea that requires the 

expectation of something 

that needs to be inferred.  

This item requires the 

students to find the 

expectation of the writer 

in the letter. It also 

includes the process of 

predicting. The item 

number 12 demands the 

students to know the 

context of the written 

letter and predict the 

intention of the writer. 
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13 A4.17/18.II.MC.13                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 13 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation to 

another. Moreover 

interpreting occurs when 

the students are able to 

present information into 

different form such as 

words to words, picture to 

words, number to words 

and others.  

 

The item no 13 consists a 

picture that appear with 

certain caption. This item 

requires the students to 

convert the written 

information into another 

form of information. In 

here the students must be 

able to interpret the 

meaning of the caption, 

based on the answer 
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provided.  

 

14 A4.17/18.II.MC.14                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 14 agrees 

with the level 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy in which the 

indicator is inferring. 

Inferring refers to the 

process of abstracting the 

concept or principle that 

account for a set of 

examples. The idea of 

inferring is that it implies 

the idea that requires the 

expectation of something 

that needs to be inferred.  

 

The item number 14 is 

about choosing the 

appropriate caption for the 

pictures provided. There 

are series of chronological 

pictures, and the students 

must choose the suitable 

caption to explain the 

picture. This clearly 

requires the process of 

inferring, whereas the 

students should draw the 

logical answer based on 
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the picture.  This is 

supported with the 

statement from Anderson 

and Krathwohl (2001) 

whereas the process if 

interpreting includes the 

conversion of information 

from words to words, 

words to pictures or 

pictures to words etc. This 

process is clearly involves 

the process of inferring as 

the item asks the students 

to convert picture to 

suitable caption. 

 

15 A4.17/18.II.MC.15                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                         The item no. 15 belongs 

to the level of (C4) 

Analyzing of Revised 

Bloom‟s Taxonomy. The 

indicator that suitable for 

this item is organizing. 

Organizing involves the 

activity in determining 

how elements fit or 

function within the 

structure (Anderson & 

Krathwol, 2001). 

Organizing demands the 

students to build the 

systematic and coherent 
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connection among 

presented information.  

 

The item no 15 includes 

the series of ways about 

how to upload a video to 

YouTube. Thus the item 

demands the students to 

rearrange the sentences 

into the correct order. 

This is met the condition 

of organizing because the 

students must be able to 

identify the systematic 

and coherent relationship 

among the sentences 

before organizing the 

correct series on how to 

upload videos in 

YouTube. 

 

16 A4.17/18.II.MC.16                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 4 belongs to 

(C2) the “Understand” 

level of Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. Based on 

Anderson and Krathwol 

(2001), the indicator of 

summarizing emphasizes 

on abstracting general 
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theme or major point of 

certain information. 

Giving brief statement of 

main point also refers to 

summarizing.  

This item demands the 

students to find the major 

purpose of the passage. 

Finding the purpose of 

passage is related with 

finding the general theme. 

Thus the students need to 

understand by 

summarizing the major 

point in order to know the 

purpose of the passage.  

 

17 A4.17/18.II.MC.17                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 17 belongs to 

C1 or “Remember” of 

Revised Bloom‟s 

Taxonomy and the 

indicator is rec. According 

to Anderson & Krathwol 

(2001) recognize also has 

the same term as 

identifying. Recognize 

involves the process of 

identifying information.  

 

This item includes a short 

passage that requires the 
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student to look for due 

date of certain 

registration. The date is 

stated in the passage 

already. The students just 

need to identify the 

passage to look for the 

correct answer. Thus this 

item meets the indicator 

of recognizing.  

 

18 A4.17/18.II.MC.18                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 18 belongs 

to (C2) Understand level 

of Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. The 

indicator of summarizing 

emphasize on abstracting 

general theme or major 

point (Anderson and 

Krathwol, 2001). 

Summarizing requires the 

students to construct the 

single statement that 

could represent the whole 

information. 

 

This item includes a 

passage with no title. This 

item asks the student to 
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find out what is the 

passage mainly 

concerned. Therefore the 

students need to 

understand the idea that 

exists in every paragraph. 

The students could 

summarize the main idea 

in each paragraph, and 

then the students could 

find the general idea of 

the passage. 

 

19 A417/18.II.MC.19                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 19 with the 

level Understanding (C2) 

of Revised Bloom‟s 

Taxonomy in which the 

indicator is inferring. 

Inferring refers to the 

process of abstracting the 

concept or principle that 

account for a set of 

examples.  

 

The idea of inferring is 

that it implies the idea that 

requires the expectation of 

something that needs to be 

inferred. The item number 

19 includes a passage 

which is about an Online 
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Shop. This item requires 

the students to search for 

the reason why people 

prefer online shop these 

days. In order to find out 

the answer. Therefore, the 

indicator inferring is 

appropriate because the 

students need to draw the 

logical conclusion based 

on their perspectives 

toward the passage.  

 

20 A4.17/18.II.MC.20                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 20 is belongs 

to Understanding level 

based on Revised 

Bloom‟s Taxonomy in 

which the indicator is 

interpreting. According to 

Anderson and Krathwohl 

(2001) interpreting 

involves the changing 

from one form of 

representation into 

another.  

This item demands the 

students to find the similar 

meaning of the underlined 

word. The students must 

understand first the 

context of the sentence, 
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then the students need to 

interpret the possible 

meaning that provided in 

the options. It meets the 

indicator of interpreting 

because the student must 

find out another similar 

meaning that appropriate 

with the context of the 

sentence. 

Regarding to the options, 

It is inappropriate with the 

word “determine”. The 

main reason is because the 

word “determine” is a 

verb in the sentences, 

meanwhile all of the 

options are adjectives 

such as considerable, 

respectable, acceptable, 

credible, and reliable. The 

part of speech of the 

options should be change 

into verb in order to be 

logically connected with 

the word “determine”. 

21 A4.17/18.II.MC.21                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 21 belongs 

to (C2) Understand level 

of Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 
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summarizing. The 

indicator of summarizing 

emphasize on abstracting 

general theme or major 

point (Anderson and 

Krathwol, 2001).  

Summarizing identical 

with the general theme of 

information.  

 

This item no 21 includes a 

passage entitled Petruk 

Cave. This item asks the 

student to find out what is 

the focus of the passage. 

Therefore the students 

need to understand and 

the major point of the 

passage. Through 

summarizing, the students 

could find the general 

theme or the major point 

of the passage. 

 

22 A4.17/18.II.MC.22                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 22 belongs to 

C1 or “Remember” of 

Revised Bloom‟s 

Taxonomy and the 

indicator is recognizing. 

According to Anderson & 

Krathwol (2001) 
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recognize also has the 

same term as retrieving. 

Recognize involves the 

process of identifying 

information.  

 

The item includes a 

passage about Petruk 

Cave that requires the 

student to find out the 

reason why the cave is 

named Petruk cave. The 

information is already 

stated based on the text. 

The students just need to 

identify the passage to 

look for the correct 

answer. Thus this item 

meets the indicator of 

recognizing.  

 

23 A4.17/18.II.MC.23                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no. 23 is belongs 

to Remembering level 

based on Revised 

Bloom‟s Taxonomy, the 

indicator is recalling. 

According to Anderson 

and Krathwohl (2001) 

recalling is the process of 

retrieving information 

from long-term memory 
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when it is prompted. It 

means that the students 

search back for a piece of 

information in their 

memory.  

 

This item demands the 

students to find out the 

possible meaning of the 

word stalactites. The 

definition of the stalactites 

is not available in the 

passage given. In order to 

answer this item, therefore 

the students must activate 

their prior knowledge and 

recall the information. 

This is can be done if the 

students have learned or 

heard about “stalactites”.  

24 A4.17/18.II.MC.24                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 24 agrees 

with the level 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy in which the 

indicator is inferring. 

Inferring refers to the 

process of abstracting the 

concept or principle that 

account for a set of 

examples (Anderson and 
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Krathwol, 2001). The idea 

of inferring is that it 

implies the idea that 

requires the expectation of 

something that needs to be 

inferred.  

The item number 24 

includes a passage which 

is about history of 

Michael Faraday. This 

item requires the students 

to search for the expertise 

of Michael Faraday. It is 

not explicitly stated in the 

passage. Hence, the 

indicator inferring is 

appropriate because the 

students need to draw the 

logical conclusion based 

on their perspectives 

toward the passage.  

 

25 A4.17/18.II.MC.25                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 25 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

inferring. Based on 

Anderson and Krathwol 

(2001) Inferring is about 

abstracting a concept or 
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principle that accounts for 

a set of examples. In other 

words inferring is about 

concluding.  

 

The item includes the 

passage about history of 

Michael Faraday.  This 

item demands the students 

to find out the statement 

that closely related with 

Michael Faraday. Thus 

the students need to 

understand the content of 

the passage about Michael 

Faraday. After knowing 

the content, the students 

could draw the logical 

conclusion based on their 

understanding on Michael 

Faraday. 

26 A4.17/18.II.MC.26                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 26 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Based on 

Anderson and Krathwol 

(2001) interpreting means 

the process changing one 

form of representation to 
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another.  

 

The item no 26 includes a 

passage for number 24 

until 26. This item 

requires the students to 

find out the similar 

meaning of the underlined 

word. The student must 

aware with the context of 

the sentence first before 

conducting the 

interpretation of the word.  

 

27 A4.17/18.II.MC.27                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 27 considered 

as (C2) of Revised 

Bloom‟s Taxonomy. The 

appropriate indicator is 

summarizing. 

Summarizing based on 

Anderson and Krathwohl 

(2001) can occur when the 

students are able to 

recognize a single 

statement that could 

represent the whole 

information. It is related 

with general idea and 

major point.  

 

The item involves a 
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passage about Aji Saka, 

which is also prevailed for 

number 28 and 29. 

Especially in this item, the 

students need to know the 

general idea of the whole 

text. Thus this item is 

suitable with the indicator 

summarizing.   

 

28 A4.17/18.II.MC.28                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            This item is belongs to 

(C1) which is 

“Remembering” in 

Revised Bloom‟s 

Taxonomy. The suitable 

indicator is recognizing. 

Recognize defines as the 

process of retrieving 

knowledge from the long-

term memory and 

compared with the 

presented material 

(Anderson and Krathwol, 

2001).  

 

This item demands the 

students to search for the 

reason why Jaka Linglung 

is punished. The answer is 

already stated in passage. 

The students just need to 
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identify the possible 

answer in the text and 

then correspond it with 

the options.  

 

29 A4.17/18.II.MC.29       The item no 29 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

inferring. Based on 

Anderson and Krathwol 

(2001) Inferring refers to 

the process of abstracting 

the concept or principle 

that account for a set of 

examples. The idea of 

inferring is that it implies 

the idea that requires the 

expectation of something 

that needs to be inferred.  

The item is related with 

the previous passage 

about Aji Saka.  This item 

demands the students to 

find out the incorrect 

statement that provided in 

the options. Therefore the 

students need to infer the 

information first and then 

they must relate with the 
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presented information to 

find the incorrect 

statement. 

30 A4.17/18.II.MC.30                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 30 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Anderson 

and Krathwol (2001) 

explain interpreting refers 

to the process of 

information changing, it 

could be words into other 

words, numbers etc. The 

item no 30 also relates 

with the passage Aji Saka.  

This item requires the 

students to find out the 

similar meaning of the 

underlined word. The 

student must understand 

with the context of the 

sentence first before 

conducting the 

interpretation of the word. 

 

31 A4.17/18.II.MC.31                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 31 belongs 

to (C2) Understand level 

of Revised Bloom‟s 

Taxonomy. The indicator 
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of the item belongs to 

summarizing. The 

indicator of summarizing 

underlines on abstracting 

general theme or major 

point (Anderson and 

Krathwol, 2001).  

The students must be able 

to abstract a summary. 

This item no 31 includes a 

passage with no title 

provided. This item asks 

the student to find out 

what is the passage about. 

Therefore the students 

need to understand the 

major point of the 

passage. The process of 

summarizing is included 

in order to find the 

general idea of the 

passage.  

 

32 A4.17/18.II.MC.32                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no. 32 befits 

with the level of 

“Understanding” of 

Revised of Bloom‟s 

Taxonomy. The indicator 

is inferring. Inferring has 

the same term with 

predicting (Anderson and 
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Krathwohl, 2001). 

Inferring involves the 

process of drawing logical 

conclusion.  

In this case, the item 

number 32 requires the 

students to predict what 

happen in Jakarta in 2025 

about the supply of clean 

water. The indicator of 

inferring includes the 

process of predicting. 

Thus, the students need to 

understand the passage 

and make a logical 

conclusion regarding to 

the question.  

 

33 A4.17/18.II.MC.33                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no. 33 belongs 

to (C2) Understand level 

of Revised Bloom‟s 

Taxonomy. The indicator 

of the item belongs to 

summarizing. This item is 

quite the same with the 

item no. 31. The 

difference is this item asks 

the students to find the 

main point from one 

paragraph only.  
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The indicator of 

summarizing underlines 

on abstracting general 

theme or major point 

(Anderson and Krathwol, 

2001). The students must 

be able to abstract a 

summary. Therefore the 

students need to 

understand the main point 

of the paragraph. 

 

34 A4.17/18.II.MC.34                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 34 belongs to 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy and the 

indicator meets the 

condition of inferring. The 

concept of inferring is that 

it implies the idea that 

requires the expectation of 

something that needs to be 

inferred. It also includes 

the process of predicting.  

 

The item number 34 

includes the passage 

entitled Indonesian 

Tourism Industry 

Association Bali Offers 

Free Accommodation, the 
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passage is for number 34 

and 35. In this item it 

demands the students to 

know the context of the 

written letter and predict 

the intention of the writer. 

35 A4.17/18.II.MC.35                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            The item no 35 belongs to 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy and the 

indicator is inferring. The 

concept of inferring is that 

it implies the idea that 

requires the expectation of 

something that needs to be 

inferred or concluded.  

 

The item number 35 

includes the previous 

passage entitled 

Indonesian Tourism 

Industry Association Bali 

Offers Free 

Accommodation. In this 

item it demands the 

students to conclude the 

passage. Inferring 

includes the process of 

concluding the presented 

information. 

36 A4.17/18.II.MC.36                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 36 belongs to 
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Understanding (C2) of 

Revised Bloom‟s 

Taxonomy whereas the 

indicator. The general 

concept of inferring is that 

it implies the idea that 

requires the expectation of 

something that needs to be 

inferred or concluded.  

 

The item number 35 

includes the passage about 

tornadoes. In this item it 

demands the students to 

conclude the passage. 

Inferring includes the 

process of concluding the 

presented information. In 

this case the students need 

to infer the statement 

about tornadoes according 

to the passage. 

 

37 A4.17/18.II.MC.37                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                          The item no 37 belongs to 

Understanding (C2) of 

Revised Bloom‟s 

Taxonomy and the 

indicator is classifying. 

The main idea of 

classifying is that it 

requires the students to 
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determinate something 

into certain category.  

 

The item number 37 

includes the passage about 

Tornadoes. Classifying 

includes the features that 

“fit” with certain 

category. In this item it 

demands the students to 

find out the correct 

statement about the 

categorization of 

destructive disaster. Thus 

the student must 

categorize the right 

statement in the options 

about tornadoes as one the 

destructive storms. 

38 A4.17/18.II.MC.38                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           The item no 38 belongs to 

the level Understanding 

(C2) of Revised Bloom‟s 

Taxonomy whereas it 

meets the condition of 

interpreting. Anderson 

and Krathwol (2001) 

explain interpreting refers 

to conversion of 

information into other 

forms.  
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The item no 38 requires 

the students interpret the 

word “it”. The student 

must understand with the 

context of the sentence 

first, and then the students 

need to interpret the word. 

The students need to find 

the representation of the 

word it. It means that the 

students convert 

information from word 

into another word.  

 

39 A4.17/18.II.MC.39                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            This item is belongs to 

(C1) which is 

“Remembering” in 

Revised Bloom‟s 

Taxonomy. The suitable 

indicator is recognizing. 

Recognize defines as the 

process of retrieving 

knowledge from the long-

term memory and 

compared with the 

presented material 

(Anderson and Krathwol, 

2001).  

 

This item demands the 

students to search for the 
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goal of the procedure text. 

The answer is clearly 

stated in passage. The 

students just need to read 

the text and then 

corresponds with the 

options. The students 

could recognize the 

information provided in 

the passage. 

 

40 A4.17/18.II.MC.40                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           This item number 40 is 

belongs to (C1) which is 

“Remembering” in 

Revised Bloom‟s 

Taxonomy in which the 

indicator is recognizing. 

Recognize defines as the 

process of retrieving 

knowledge from the long-

term memory and 

compared with the 

presented material 

(Anderson and Krathwol, 

2001).  

 

This item demands the 

students to search how 

many materials are used 

in the procedure text. The 

materials have been stated 



190 
 

 
 

in the text. The students 

just need to identify the 

answer in the text given. 

41 A4.17/18.II.SA.01                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                        

 

    This item no 41 belongs 

to the level of 

“Understanding” and the 

indicator is summarizing. 

Summarizing according to 

Anderson and Krathwohl 

(2001) is the process in 

which it involves the 

general theme and major 

point.  

 

In this item there is a 

passage provided, and the 

students are asked to 

determine what kind of 

experiences did the writer 

has. This item requires the 

students to understand and 

generalize the theme of 

the passage. Summarizing 

will help the students to 

find out the representation 

of the passage 

42 A4.17/18.II.SA.02   

 

    This item no 42 belongs 

to the level of 

“Understanding” which 

the indicator is 

summarizing. 
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Summarizing involves the 

idea that information 

could be presented 

through single statement. 

(Anderson and 

Krathwohl, 2001). The 

process of summarizing 

includes the abstraction of 

a concept. 

 

The item no. 42 is about 

the announcement in 

certain school, and the 

students need to guess 

what the general theme of 

the announcement. This is 

suitable with the concept 

of summarizing, in which 

the students also need to 

know about the general 

point of the information.  

 

43 A4.17/18.II.SA.03     

 

  The item no. 43 

appropriates with the level 

of Analyzing, which the 

indicator is organizing. 

According to Anderson 

and Krathwohl (2001) 

organizing is the process 

of identifying the 

elements of a 
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communication or a 

situation and recognizing 

how each element 

connects into coherent 

structure.  

 

The item number 43 asks 

the students to rearrange 

the sentences into correct 

orders. There are seven 

sentences that are 

provided. The students 

need to analyze the whole 

arrangement of the 

sentences. The students 

need to break each of the 

sentences and the try to 

correlate each of the 

sentences into an overall 

correct structure.    

44 A4.17/18.II.SA.04    

 

   The item number 44 

considered as “Applying” 

level (C3) in Anderson 

and Krathwohl (2001) and 

the suitable indicator is 

executing. Based on 

Anderson and Krathwohl 

(2001) In executing, a 

student routinely carries 

out a procedure when 

confronted with a familiar 
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task (Le., exercíse).   

 

The item no 44 consists a 

passage about the 

analytical text. The 

students are asked to 

complete the blank space 

with the appropriate 

words. This item requires 

more than understanding 

because it demands the 

students to apply their 

grammatical ability.   

45 A4.17/18.II.SA.05    

 

    The item number 45 is 

belongs to “Applying” 

level (C3) in Anderson 

and Krathwohl (2001) 

whereas it meets the 

conditions of executing. 

Executing is included 

when the students carry 

certain procedure to deal 

with familiar task. In 

other words the students 

know what they will do.  

 

The item no 45 includes a 

letter and the students 

need complete the blank 

space with suitable 

connective words. In this 
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case, the students are 

asked to write down their 

answer. The students need 

to apply their grammar 

ability as well. The 

indicator of executing is 

suitable because the 

students are instructed to 

fill the blank space with 

the suitable connectives. It 

means the students know 

what to do.  
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Result of the interview  

 

Transcription 

Interviewee : Made Yunita Parmawati, S.Pd 

Date  : 08/09/2019 

Time  : 12.15 P.M 

Place  : SMA N 2 Singaraja  

 

 

Code Interview Result Line 

I-2 Iya nama saya Made Yunita Parmawati, S.Pd, saya guru 

kontrak di SMA N 2 Singaraja memegang mata pelajaran 

bidang studi bahasa inggris, sudah mengajar disini dari tahun 

2014 sampai sekarang.  

 

 

R langsung saja ke pertanyaan pertama, bagaimana ibu selaku 

guru mata pelajaran bahasa inggris kelas dua belas 

mengembangkan soal-soal sumatif ? 

 

1 

 

I-2 Soal sumatif itu maksudnya itu seperti ulangan akhir, ulangan 

umum, PAT, kalau kami disini pengembangan soalnya itu 

berdasarkan karakter peserta didik, dan juga berdasarkan 

tuntutan kurikulum, berdasarkan juga KKM yang kita 

kembangkan disini, jadi karena karakter siswa di SMA 2 

Singaraja untuk bahasa inggris bisa saya kembangkan itu dari 

menengah kebawah, jadi soal yang para guru disini harus 

menyesuaikan denga kemampuan siswa. 

 

 

 

 

 

R Cara ibu mengembangkannya itu biasanya memakai kisi-kisi 

atau bagaimana? 

 

 

2 

I-2 Iya biasa seperti itu, jadi ada instrumennya, sebelum membuat 

instrument soalnya itu, pasti kita mengacu pada silabus dulu, 

kemudian setelah silabus baru dipetakan ke KD-KD nya, dari 

masing-masing KD kita kembangkan indikator dan dari itulah 

akan muncul soalnya, sebelum membuat soalnya yang utuh, 

kita harus buatkan blueprint kisi-kisinya, kisi-kisinya kita 

buatkan dari KD lengkap dengan kunci jawabannya lalu kita 

juga buatkan kartu soal dan kunci jawabannya  baru ke soalnya 

yang utuh. 

 

R Yang menjadi pertimbangan dalam pembuatan soal sumatif di 

kelas dua belas itu apa? 

3 
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I-2 Pertimbangan? Maksudnya pertimbangan yang seperti apa? 

 

 

R pertimbangan yang tadi ibu jelasin seperti kemampuan siswa, 

 

 

I-2 kalau yang kelas dua belas, karena mereka orientasinya akan 

mengikuti ujian nasional, jadi saya biasanya mengembangkan 

soal sumatif kelas dua belas, saya mengacu pada soal-soal yang 

sering keluar di UN dan USBN itu ada beberapa list materi 

yang saya apa namanya saya kasih kode yang saya lebih 

prioritaskan, lebih ditekankan di kelas, mengingat itu yang 

berpeluang besar keluar di UN, jadi itu saya kasih bobot lebih 

banyak 

 

 

R Nah selanjutnya pada pembelajaran abad 21, siswa kan dituntut 

agar bisa berpikir kritis, nah cara ibu membimbing siswa dalam 

setiap kegiatan pembelajaran agar bisa berpikir kritis itu kira-

kira? 

 

4 

I-2 Kalau critical thinking untuk anak-anak SMANDA ya jujur 

masih belum bisa semua kita terapkan, apalagi ini adalah 

pembelajaran bahasa, kalau science ya mungkin kita lebih 

gampang untuk memunculkan critical thinking anak-anak, tapi 

kan pembelajaran bahasa kita lebih ke skill, begitu 

communicativeness kan begitu, jadi saya lebih memberikan 

anak-anak ke problem aja atau masalah kemudian minta 

tanggapan mereka, minta bagaimana action mereka ini karena 

clue-nya berbahsa inggris jadi output-nya adalah mengunakan 

English.  

 

 

R Jadi selama ini proses belajar dan pembelajaran sudah 

memasukkan kemampuan berpikir kritis sebagai salah satu 

tujuan pembelajaran ibu? 

5 

I-2 Kalau saya di bahasa ingris sudah, karena critical thinking kan 

biasa kita tumbuhkan dari kegiatan berkelompok, ada masalah 

kemudian ada pemecahannya  

 

 

R Selain pada strategi pembelajaran, apakah penting  untuk 

mengembangkan siswa agar mampu berpikir kritis? 

6 

I-2 Sangat penting saya rasa, tapi kan kita masih banyak kendala, 

sumber daya manusia juga dari guru-guru, apalagi soal HOTS 

itu kami disini masih sedikit tidak begitu ada menangkap 

bayangan soal HOTS itu seperti apa karena kan untuk 

menerakan soal HOTS itu sangat susah sekali untuk siswa, 

gurunya dulu juga harus siap, soal yang memiliki critical 

thinking kan sudah masuk ke soal HOTS. 

 

 

R Nah menurut Ibu, soal yang menuntut berpikir kritis itu kira-

kira seperti apa? 

7 
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I-2 Soal yang dari ranah C4, Taxonomy Bloom itu menuntut 

berpikir kritis jadi seperti misalnya di bahasa inggris dikasi teks 

itu misalnya ya, menemukan informasi yang tidak ada disana 

yang kontekstual yang tersirat itu sudah termasuk berpikir 

kritis, mengambil relevansi kaitan antara teks yang diberikan 

dengan konteks kehidupan siswa dengan permasalahan 

kehidupan siswa lalu memetik solusi itu juga bisa. 

 

 

R berpikir kritis juga salah satu indikator dari Higher Order 

Thinking Skills atau HOTS, yang Ibu mungkin ketahui tentang 

HOTS kira-kira bisa dijabarkan lebih? 

 

8 

I-2 Soal HOTS itu kan soal High Order Thinking jadi soal itu 

hanya tidak sebatas kita mention, kayak begitu menyebutkan 

kemudian itu disusun atau segala macam itu lebih dari sekedar 

menjawab memerlukan penyelesaian waktu yang 

membutuhkan pemikiran yang lebih, jadi soal HOTS itu, 

bagaimana guru itu bisa merancang satu item butir soal itu bisa 

mewakili kemampuan berpikir anak-anak secara multiple, 

secara ganda bagaimana dia bisa menyelesaikan masalah 

kemudian mengaplikasikannya, mengkaitkannya terus 

mencerna , menyimpulkan. 

 

R Soal yang sulit itu bisa dikatakan sebagai HOTS? 

 

 

I-2 Soal yang sulit sudah pasti dia adalah HOTS? 

 

 

R Kalau menurut ibu bagaimana? 

 

 

I-2 Kalau menurut saya iya, soal yang sulit pasti membutuhkan 

pemikiran yang tinggi , soal yang membutuhkan pemikiran 

yang tinggi ya soal HOTS namanya.  

 

 

R Terus terkait dengan HOTS, apa acuan yang bisa digunakan 

untuk membuat soal berbasis HOTS? 

 

9 

I-2 Mungkin dari sumber-sumber bacaan yang tingkat 

kesukarannya itu lebih tinggi untuk anak-anak sebayanya, 

misalnya kalo anak-anak SMA saya ambil referensi dari materi 

perkuliahan, SMP ambil di SMA, juga mengambil media 

pembelajaran yang sumbernya dari buku pustaka anak-anak 

gitu misalnya dari ensiklopedia dari novel, dari cerpen dari 

news itu misalnya   

 

 

R Terkait dengan HOTS apakah Ibu sudah pernah mengikuti 

pelatihan , seminar-seminar kaya gitu? 

 

10 

I-2 Kebetulan baru Juli tanggal 8 kemarin di SMA 2 baru pertama  
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kali pelatihan soal HOTS sudah diberikan oleh tutor, namanya 

pak Gusti Agung kalau tidak salah 

 

R Jadi ibu sudah pernah ya? 

 

 

I-2 sudah pernah  

 

 

R menyangkut soal HOTS lagi berarti Ibu sudah pernah tidak 

membuat soal berbasis HOTS? 

 

11 

I-2 Kalau membuat soal berbasis HOTS kami disini belum, karena 

kami baru mendapatkan pelatihan itu dari kemarin, tapi 

kemungkinan semester ini kita coba untuk melakukan itu  

 

 

R Nah dari soal-soal ini, kira-kira menurut Ibu ada yang mungkin 

bisa dikategorikan sebagai salah satu soal HOTS? Beberapa 

saja bu (Merujuk pada soal PAS) 

 

12 

I-2 Ini ya, mungkin ini ya caption ini, ini tapi tidak begitu HOTS 

ya, karena ini kan kita menyuruh anak-anak untuk menemukan 

jawaban yang tidak tertera disini, iya, nomor 26 juga baru 

termasuk iya levelnya tidak terlalu tinggi, kalau ini agar dia 

mau jadi soal HOTS, seharusnya gini pertanyaannya, what is 

your opinion about this caption? What should we do as young 

generation related to the text?   

 

 

 

R Berarti soal yang seperti itu sudah mengarah ke soal HOTS bu? 

 

 

I-2 Kalau ini kan hanya menebak gambar, yang ini sudah 

mengarah karena membutuhkan juga pemikiran kreatif dari 

anak-anak  
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Result of the interview  

Transcription  

Interviewee : Ketut Darmayasa 

Date  : 07/18/2019 

Time  : 09.41 A.M 

Place  : SMA N 3 Singaraja 

 

Code Interview Result Line 

R Baik pertanyaan pertama, Bagaimana bapak sebagai guru 

kelas dua belas mengembangkan soal-soal sumatif? 

1 

I-3 Mengacu pada peraturan standar kurikulum yang terbaru ya 

dimana penilaian itu sudah tidak ada lagi yang istilahnya 

sumatif, jadi penialiannya itu akhir tahun namanya 

mengacu pada Permen nomor 23 jadi tentang standar 

penilaian revisi kurikulum, untuk bagaimana 

mengembangkan soal-soal sumatif atau penilaian akhir 

tahun ini kita mengacu pertama dari KI dan KD yaitu 

tentang darimana telah diatur dalam Permen nomor 24 

tahun  2016 yang dikembangkan atau direvisi kembali 

menjadi Permen nomor 30 tahun 2018, tentang KI dan KD 

mata pelajaran, dari KI dan KD itu dikembangkan menjadi 

indikator, kemudian dari indikator kita membuat kisi-kisi 

soal untuk pembuatan soal-soal sumatif. 

 

 

R Pada abad 21 ini siswa dituntut untuk berpikir kritis, 

bagaimana cara bapak agar bisa membimbing siswa untuk 

berpikir kritis? 

 

2 

I-3 Dalam kurikulum K13 implementasi K13 jadi siswa 

memang paradigma siswa itu sudah berubah, maksud saya 

paradigma pembelajaran sudah berubah kalau dulu 

mengacu pada teacher center oriented, kalau sekarang 

student center oriented, dimana pendekatan-pendekatan itu 

harus selalu bersifat scientific, makanya dalam K13 itu ada 

beberapa model pemelajaran yang disarankan yaitu 

pendekatan scientific, salah satunya misalnya dengan 5M, 

yang disamping juga beberapa model pembelajaran juga 

seperti discovery learning dan juga inquiry learning  

kemudian problem based learning, jadi hal-hal inilah yang 

diberikan kepada siswa sehingga anak itu sudah terlatih 

bagaimana memecahkan suatu masalah berdasarkan 

masalah-masalah real yang dihadapi.  

 



200 
 

 
 

 

R Apakah selama ini proses belajar dan pembelajaran sudah 

bapak terapkan dan memasukkan kemampuan berpikir 

kritis sebagai salah satu tujuan pembelajaran? 

3 

I-3 Iya sudah, karena itu merupakan suatu tuntutan daripada 

kurikulum 13, jadi sudah saya katakan tadi bahwa sekarang 

itu kita harus bisa mengubah paradigma proses belajar 

mengajar yaitu dari teacher oriented menjadi students 

center oriented, ya ini sudah jelas sekali kita masukkan, 

tujuannya agar bagaimana, agar siswa mampu memecahkan 

dan mencari solusi daripada masalah-masalah yang 

dihadapi, kita sebagai guru hanya sifatnya sebagai 

motivator dan fasilitator. 

 

R Mahasiswa: selain pada strategi pembelajaran apakah 

penting untuk mengembangkan soal yang menggiring siswa 

untuk berpikir kritis? 

 

4 

I-3 Di dalam penyusunannya soal kan memang sudah diatur, 

artinya ada beberapa soal yang mengacu pada indikator-

indikator yang telah dibuat, dan indikator yang dibuat 

itupun juga ada persentasinya, artinya ada soal yang bersifat 

low, LOT istilahnya (Low Order Thinking) artinya yang 

mengacu pada level satu dan level dua, sedangkan kalau 

sudah ditaraf HOT (High Order Thinking) itu artinya dari 

soal level 3, 4, dan 5.  

 

 

R Menurut bapak soal yang menuntut siswa untuk berpikir 

kritis itu soal yang bagaimana? 

5 

I-3 Soal yang berpikir kritis itu artinya memang untuk menguji 

soal itu bahwa ini termasuk soal LOT atau soal HOT atau 

soal yang kritis ini perlu kajian, perlu di try-out kan dulu, 

soal yang bersifat kritis itu artinya soal-soal yang 

menantang , soal-soal yang yang membutuhkan banyak 

narasi-narasi atau masalah-masalah yang harus dipecahkan , 

itu bisa disebut sebagai soal yang kritis secara umum, 

katakanlah soal-soal yang memerlukan pemikiran yang 

serius dan juga pemecahan yang sedikit dalam artian dalam 

soal HOT  

 

 

R Berarti contohnya seperti soal-soal yang menganalisis itu 

bisa? 

 

 

I-3 Iya sudah saya katakan dari soal level C4, C5 dan C6 

 

 

R Berpikir kritis adalah salah satu indikator dari HOTS apa 

yang mungkin bapak ketahui dari HOTS? 

 

6 

I-3 Sudah saya katakan adalah soal yang levelnya dari C4, C5 

dan C6, artinya soal-soal yang membutuhkan aplikasi, 
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penerapan dan sudah termasuk analisis 

R Apa acuan yang bisa diguankan untuk membuat soal yang 

berbasis HOTS? 

7 

I-3 Acuannya adalah level kemudian indikator kemudian yang 

menjadi basic-nya sekali adalah materi pembelajaran 

termasuk juga level daripada materi itu, apakah ini 

termasuk C4, C5 atau C6, jadi kalau sudah materi itu 

mengacu sudah mengacu pada level C4, C5, atau C6 maka 

itu sudah bisa dikatakan HOTS. 

 

R Apa bapak sudah pernah membuat soal yang berbasis 

HOTS? 

 

8 

I-3 Kebetulan saya salah satu tim penyusun soal untuk kisi-kisi 

pembuatan soal untuk tingkat SMA se-Bali, kami sudah 

pernah membuat soal-soal HOT, dan acuan-acuan apa yang 

dikatakan HOT itu sudah kami buat itu.  

 

 

R Jadi Bapak mungkin tahu tentang istilah yang dinamakan 

Taxonomy Bloom,? 

 

9 

I-3 Iya Taxonomy Bloom itu kan sudah saya katakan 

merupakan pembagian daripada level-level dari kategori 

soal, apakah itu dari pemahaman, pengetahuan, penerapan, 

aplikasi, sintaksis itu termasuk Taxonomy Bloom, tapi 

sekarang Taxonomy Bloom ini sudah direvisi ada yang 

disebut dari… cobak nanti dicek lagi ya 

 

 

R Dari soal-soal berikut, menurut Bapak kira-kira yang mana 

yang bisa Bapak kategorikan sebagai soal-soal HOTS? 

10 

I-3 Nomor 8, this passage is mainly concern with.. soal ini 

memerlukan analisis yang matang dari siswa, kalau nanti 

misalnya siswa tidak mampu menguasai tentang wacana itu 

maka tidak akan bisa menjawab soal ini itu salah satu 

contoh soal HOTS, walaupun banyak juga kriteria-kriteria 

soal HOTS, sudah saya katakan soal HOTS itu dimulai dari 

level kognitif C4, C5 dan C6, tapi bagaimana membuat 

model-model soal itu kita ada acuannya tapi biasanya 

kelemahan daripada soal HOTS hanya bisa digunakan 

sekali, karena kalau lagi digunakan tahun berikutnya pasti 

sudah bisa ditebak, itu kelemahan dari soal HOTS.  

 

 

R Berarti soalnya itu harus terus diperbaharui ya pak.. 
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Result of the interview  

Transcription 

Interviewee : Made Risna Adnyana 

Date  : 07/19/2019 

Time  : 13.13 P.M 

Place  : SMA N 4 Singaraja  

 

Code Interview Result Line 

R Baik, yang pertama, Bagaimana bapak sebaga guru kelas 

duabelas mengembangkan soal sumatif di kelas bapak? 

 

1 

I-4 Sebenernya sih soal sumatif ini maksudnya soal ulangan 

akhir ya? Yang sekarang disebut dengan PAT (Penilaian 

Akhir Semester) atau UAS (Ulangan Akhir Semester), 

sudah pasti ini dilakukan dengan mengacu pada silabus 

yang dipakai, kemudian tujuan pembelajaran kemudian 

dituangkan ke dalam indikator, seperti itu supaya tidak 

terlepas dari apa yang kita ajarkan dan soal itu harus 

berbobot, tidak hanya sembarang membuat soal, jadi 

peserta didik itu juga harus diperhatikan tingkat 

kemampuannya, kalau kita membuat soal terlalu jauh 

mungkin, terlalu susah bagi siswa, antara kita tidak 

memberikannya disaat pembelajaran, itu kan tidak 

matching jadinya. 

 

 

R Nah yang kedua, pertimbangan bapak dalam membuat soal 

sumatif itu seperti apa pak? Bapak menggunakan kisi-kisi 

atau… 

 

2 

I-4 Oh iya pasti itu, jadi kisi-kisi pasti digunakan karena itu 

sebagai apa namanya, penuntun kita untuk membuat soal 

supaya tidak melenceng dari target. 

 

 

R Pada pembelajaran abad 21 siswa dituntut untuk agar bisa 

berpikir kritis, nah kalo bapak biasanya mengajar siswa 

agar berpikir kritis itu bagaimana? 

 

3 

I-4 Yang sudah biasa kami terapkan disini kan memakai 

strategi dalam pembelajaran, kalau tidak memakai strategi 

mungkin ngalor ngidul, Strategi yang dipakai adalah 

kebanyakan student center, jadi siswanya yang aktif, tidak 

hanya siswa itu memahamai dan mengingat, jadi supaya 
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ada kegiatan siswa yangmana siswa itu berusaha untuk 

menganalisis, kemudian evaluasi sampai menciptakan, 

sehingga kemungkinan untuk mereka mendapat kesempatan 

berpikir kritis itu lebih luas. 

 

R Terus selanjutnya selama ini proses belajar yang bapak 

terapkan itu apakah sudah menerapkan kemampuan 

berpikir kritis, sebagai salah satu tujuan pembelajaran 

bapak? 

 

4 

I-4 Iya tentu, didalam pembelajaran itu karena seperti yang 

saya sampaikan tadi siswa diberikan semacam penugasan 

yang mana center-nya adalah siswa, didalamny kan sudah 

ter-cover ini, jadi didalam tujuan pembelajaran tersebut ya, 

sudah diisi peningkatan kemampuan berpikir kritis seperti 

tadi. 

 

 

R Selain pada strategi pembelajaran, apakah penting menurut 

bapak untuk mengembangkan soal-soal yang menggiring 

siswa untuk berpikir kritis? 

 

5 

I-4 Sangat penting karena sekarang kan siswa dituntut untuk 

berpikir kritis, jadi dengan perkembangan teknologi 

informasi seperti sekarang, jadi siswa diharapkan untuk 

lebih bisa inovatif, tidak hanya menirukan, meskipun sudah 

ada, paling tidak mereka bisa berinovasi begitu dengan 

memodifikasi, itu kan hasil-hasil berpikir kritis, tidak 

stagnan hanya meniru, meniru, meniru seperti itu. 

 

R Terus selanjutnya, menurut bapak soal yang menuntut 

siswa untuk berpikir kritis itu soal yang bagaimana? 

 

6 

I-4 Nah ini agak susah 

 

 

R Mungkin soal yang sulit atau.. 

 

 

I-4 Ohh, soal yang memerlukan penalaran, tidak hanya… 

seperti taxonomy bloom itu, tidak hanya pada tiga tiga 

ranah, tiga scoop atau dua.. yang kita sering berikan secara 

konvensional apa, mengerti, memahami yang itu kemudian 

menerapkan, sudah ada tingkat evaluasi dan analisis bahkan 

menciptakan, jadi kita acuannya ke taxonomy itu. 

 

 

R Selanjutnya berpikir kritis itu adalaha salah satu indikator 

dari HOTS atau High Order Thinking Skills, nah apa yang 

bapak ketahui tentang HOTS? 

 

7 

I-4 HOTS itu adalah soal yang menuntut penalaran siswa, 

menuntut siswa untuk berpikir lebih kritis, dan 
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menggunakan nalar tidak hanya siswa itu berpikir lebih 

jauh tentang soal tersebut sehingga melatih mereka itu 

untuk lebih maju, lebih inovatif, lebih kreatif, dan 

mengikuti perkembangan IPTEK.  

 

R Hubungannya dengan Taxonomy Bloom yang tadi, menurut 

bapak yang termasuk HOTS itu dari C berapa? 

 

8 

I-4 C4 keatas, komplit dia dari apa, mengingat, memahami, 

kemudian menerapkan, kemudian menganalisis, 

mengevaluasi, baru mencipta, harus komplit itu, semuanya 

harus ada disana kalau kita berbicara tentang HOTS.  

 

 

R Terus acuan yang digunakan untuk soal berbasis HOTS itu 

ada nggak kira-kira? 

 

9 

I-4 Sementara itu acuannya adalah Taxonomy Bloom, mungkin 

ada acuan yang lainnya yang tidak bisa saya sebutkan. 

 

 

R Apakah bapak sudah pernah membuat soal berbasis HOTS 

? 

 

10 

I-4 Tentunya sudah, pada saat UASBN, kemudian beberapa 

ulangan kalo disini disebut sumatif ya, Ulangan Akhir 

Semester, kemudian Ulangan Akhir Tahun, sudah kami 

terapkan.  

 

 

R Nah, cara bapak dalam membuat soal itu bagaimana, 

apakah bapak membuat sendiri, atau bapak menemukan 

dari sumber lain… 

11 

I-4 Modifikasi lah.., iya jadi mencari daris sumber lain 

kemudian mencocokkan dengan apa yang dibuat di-draft 

atau mungkin murni mengambil dari sumber lain, kalau 

soal USBN, kebanyakan itu saya olah, pasti sesuai dengan 

kisi-kisi yang diberikan provinsi, itu tidak bisa kita lepas 

karena di-cek kembali soal itu baru direvisi, dikembalikan 

lagi, kita ngadain pertemuan di MGMP masalah soal-soal 

itu, ditelaah lagi begitu, ada pembicaraan tentang itu soal 

HOTS apa tidak. 

 

R Ini adalah contoh soal-soal yang bapak kasi, nah kira2 

menurut bapak yang mana saja yang bisa disebut sebagai 

HOTS, bisa dikasi beberapa contoh saja.. 

 

12 

I-4 Kayaknya soal yang imply,implicit, karena mereka harus 

menganalisis, memahami.  

 

 

R Biasanya kan tidak stated jawabannya kan pak? 
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I-4 Iya, implied dia.. nah ini, soal HOTS itu kan tidak mesti 

susah , kalau mereka sering membaca, sering berlatih soal, 

akan lebih cepat dia mendapatkan jawaban. Nah ini soal 

nomor 12, 13, 

 

R Nomor 14 kira-kira bagaimana, kan disuruh mencari 

caption yang sesuai.. 

 

 

I-4 Iya, ini termasuk juga ya, ini kan menganalisis gambar yang 

sesuai jadinya, ini gambar apa saja, nanti baru digabungkan, 

setelah itu baru dia menciptakan dia, kira-kira mana yang 

cocok kan begitu. Nomor 15 juga, susah ini.. bisa dibolak 

balik 

 

 

R Saya juga harus mengorganisir dia..  

I-4 Kadang-kadang ada yang mirip begitu, tidak ada 

connectives-nya susah dah dia, harus tahu struktur dia. 

 

 

R Kira-kira kalau soal essay juga ada HOTS pak ya,  

 

 

I-4 Iya, nah soal nomor 25 ini soal HOTS juga karena disini 

kan dia harus memahami semua teks ini, keseluruhan teks 

ini, harus mencari, dia harus membaca semuanya dan 

memahami keseluruhan, termasuk menganalisis ini, 

menganalisis tiap paragraf, Michael Faraday dedicates his 

life… Apakah kata ini explicit ada disini? 

 

 

R Tidak  

I-4 Jadi mereka harus memahami setiap poin yang ada di 

paragraf ini, yang mana disini yang ditanyakan kan yang 

mana yang benar kan? 

 

 

R Yang mana statement yang sesuai.. 

 

 

I-4 Semua kalimat yang disini, hampir tidak ada disini secar 

explicit, mereka harus menganalisis setiap alinea. Kalau ini 

kan tidak, ini kan padanan kata. Ini lagi.. 

 

 

R Nomor 29, berarti harus dibaca dulu baru bisa dijawab pak 

ya? 

 

I-4 Iya, tapi bobotnya tidak seberapa ini karena levelnya juga..  

R Kalau ini, what is predicted to happen.. 

 

 

I-4 Ini tertera langsung ini, 

 

 

R berarti ada jawabannya ini pak ya.. 

 

 

I-4 Jelas sekali ini, yang ini jawabannya di alinea satu.. Ini lagi 
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R Nomor 35, from the text we may conclude that.. 

menyimpulkan berarti.. 

 

 

I-4 membuat kesimpulan ini, berarti sudah beberapa kali lewat 

proses analisa, ini tidak bisa dibaca sekali,  

 

 

R berarti semua paragraph dia harus ngerti gitu pak ya.. 

 

 

I-4 Paling tidak semuanya dibaca, meskipun jawabannya ada di 

alinea berapa begitu, karena berhubungan dengan 

conclusion. Nah ini essaynya lagi.. Nah kalo ini.. eh bukan 

 

 

R Ini kan ada di teks pak 

 

 

I-4 Oh iya, Nah ini kayaknya.. karena mencari main idea.. 

(Halo engken, ne nu ade mahasiswa interview, panake ube 

dini, nah langsung binsep mulih) sedang menjawab telepon 

 

ini termasuk juga ini, karena mereka tidak ada pilihan jadi 

mengisi sendiri, harus memahami setiap kalimat disini  

 

 

R dengan kalimat yang cocok kan pak.. 

 

 

I-4 Dan menciptakan, menciptakan kalimat yang pas 

 

 

R Nah kalau nomor 45 pak? 

 

 

I-4 Kalau ini kan mengingat dia, sesuai pertanyaanya kan 

mengingat dia.. connectives 

 

 

R Mengungat kata hubung kan ya.. 

 

 

I-4 Iya.. Kalau mereka tahu, memahami tentang ini, bisa 

mereka jawab, kalau yang tadi kan membuat kalimat dia, 

kala yang ini tidak struktur yang ditanyakan ini.  
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Object Instruments  
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Object Instrument (SMAN 4 Singaraja)  
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